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Name: Math 6 Review: Packet #1

Topic A: Prime Factorization, GCF, and LCM

Determine whether the number is prime or composite.

1. 233 2. 864 3. 597 4. 1,109

Write the prime factorization of each number.

5. 75 6. 56

7. 810 8. 1,872

Find the greatest common factor (GCF) of each set of numbers.

9. 64 and 48 10. 72 and 156 11. 45 and 108

Find the least common multiple (LCM) of each set of numbers.

12. 18 and 30 13. 24 and 40 14. 12 and 28

Indicate whether you would use a GCF or LCM to solve the problem. Then solve.

15. Kiara has 80 lollipops and 32 Snicker bars. She is filling individual bags for Halloween and would
like each bag to contain the same combination of lollipops and Snicker bars. How many bags
can she fill if she wishes to have no candy leftover?2 How many lollipops and Snicker bars are in
each bag?
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16. Corey is stacking 10-inch boxes while Dale is stacking 12-inch boxes. They plan to stop when
their stacks are the exact same height. At what height will this be?

Topic B: Operations with Fractions and Decimals

Evaluate. Write each answer as a fraction or mixed number in simplest form.

1. l+4é 2. 51—2l 3. l§+5l
4 6 8 16) 4 10
4.31.92 5 4191 6. 32-
7 6 6 4 5
Evaluate.
7. 2495+ 176.089 8.98.1-14.726 9. 3.59(17)
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10. 80.95(0.04) 1. 7.8(15.12) 12. 732+8

13, 61.95 14, 918 15. 212 +2.65

15 34

Topic C: Applications with Fraction and Decimal Operations

1. A trail that wraps around a lake is 1 g miles 2. A piece of wire is 30% inches long. How many
long. Mara completed one lap around the pieces of wire can be cut from this if each
lake. If she ran gof the distance and walked piece must be 1 g inches long?e

the rest. How far did she run@

3. Nick boughf ] g pounds of green apples and 4. A taxi service ChOrgeS $1.20 per mile. If Serena
paid $16.38 for a ride to the airport, how

1
1 7 pounds of red apples. How many total many miles was the trip2

pounds of apples did he buy?
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5. Jana’s six children bought her a gift for her 6. If salamiis on sale for $9.68 per pound, find

birthday and split the total cost evenly. If the the total cost for 1.5 pounds.
gift cost $155.40, how much did each person
pay?

Topic D: Fractions vs. Decimals

Write each decimal as a fraction or mixed number in simplest form.
1. 2.8 2. 1295 3. 7.125

Write each fraction or mixed number as a decimal.

7 27 5
4. 3— . = L=
25 > 40 é 12

Topic E: Integers and Integer Operations

1. Write an intfeger to model each situation. 2. Name the opposite of each integer.
a) a $60 profit
a) 19 b) 43
b) a 7-yard loss
c) a 125-foot descent )l d) -26
Give each absolute value.
3. |40] 4.|-17| 5.|21] 6. |-9|
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7. Order from least to greatest: 8. Order from greatest to least:
-13.4,-9,-17,0, -5 -46, -52, -57, -41, -60

Graph each integer at the dot on the number line. Then, number the rest of the line.

9.3 10. -16

A
\4
A

Find each sum or difference.

11. -9+ (=5) 12. 27 +(-19) 13. =7 +3]
14. 8+ (1) 15. 6+ (-6) 16. -51+16
17.7-12 18. —6-17 19. 14-(-12)
20. -13-13 21. 8- (-3) 22. —4—(-15)

Find each product or quotient.

23. 7-(-4) 24. ~9.(-8) 25. 216
26. 17(4) 27. -5(13) 28. —6-(-8)
29. —40-(-8) a0, 2/ a7 96
-3 4
32. 568 33 14 34. 0-(-8)
"0
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Topic F: Applications with Integer Operations

. The stock market ended the day on Monday
at 179 points. If the market closes the
following day 414 points below Monday, find
the closing number on Tuesday.

2. Over the course of 4 plays, a football team
lost 5 yards, gained 2 yards, lost 8 yards, then
gained 14 yards. Find the team’s total
change in yards on the 4 plays.

3. A car depreciated by $2000 in one year. Find

the average change in value each month.

. Sarah is hiking in a valley at an elevation of
-68 feet. If she continues to decend at a rate
of 8 feet per minute, find her elevation after
15 minutes.

5. A submarine is located 875 feet below sea

level. If a helicopteris located 6,200 feet
directly above the submarine, find the
altitfude of the helicopter.

6. A hot-air balloon is descending at a rate of
185 feet per minute. Find the change in
position of the hot-air balloon after 6 minutes.

Topic G: The Coordinate Plane

Identify the ordered pair and location (quadrant or axis) for each point on the graph.

A

Ordered Pair Location

,:' Point
CC A
B
H C
@
< -‘C OE-) D
‘A E
10 F
G
%
v - H
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Wath, 6 Lerieus

QUIZ 1

Name:

Date: Per:

1. Which list of numbers contains only prime
numbers?
A. {31, 63,97}
B. {23,89, 109}
C. {57,79,113}
D. {49,97,129}

5. Alexis 2 years older than h|s sister Jenna.
How old i |s Jenna if Alex is 5 years old?

11
- 8—
A. 3 g Years C. 1g vears
7 5
B. 3— vyears =
18 Y D. 818 years

2. The partial prime factorization of the number
1,008 is given below. Complete the
factorization by writing the missing numbers
in the boxes.

N

6. There are 20% cups of dog food in a storage
bin. If Kayla’s dog eats 2% cups of food each
day, how many full days will the food last?

A. 7 days
B. 8days
C. 9days
D. 10days

3. Which statement is true about the greatest
common factor (GCF) and least common
multiple (LCM) of the numbers 12 and 20?

The GCF is 32 more than the LCM.
The LCM is 32 more than the GCF.
The GCF is 56 more than the LCM.
The LCM is 56 more than the GCF.

coo®»

7. Evaluate the expression below.

11.28(1.875)

A. 19.45
B. 19.85
C. 20.95
D. 21.15

4. Kingston has two pieces of fabric. One is 56
inches wide and the other is 96 inches wide.
He wants to cut both pieces of fabric into
strips of equal width that are as wide as
possible. How wide should he cut the strips?

A. 2inches
B. 4inches
C. 8inches
D. 12inches

8. Evaluate the expression below.

132
4.8

A. 27.5
B. 28.5
C. 308
D. 325
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9. The total cost for 1.4 pounds of strawberries
was $3.71. Find the cost per pound.

A. $2.35
B. $2.45
C. $2.55
D. $2.465

13. Given the five integers below, which two
integers would have the smallest product?

-7, 4, -2, 9
A. -7and?@
B 4 and -2
C. 2and-7
D 9 and -2

10. Mara wrote down an integer. The opposite
of Mara'’s integer is between 20 and 30.
Which statement about Mara’s integer
must be true?

A. Itisless than -35.

B. It has an absolute value of 10.
C. ltislessthan -10.

D. Itis greaterthan -10.

14. A shark swimming 250 feet below the
surface of the waterrises 78 feet to eat a
fish, then swims down 95 feet. Which value
represents the location of the shark relative
to the surface of the water?

A. -77 feet

B. -233feet
C. -267 feet
D. -423feet

11. Which list shows temperatures in order from
coldest to warmest?

A. [-15°F,12°F, -8°F, 0 °F}
B. {0°F,-8°F, 12°F, -15°F}
C. {8°F, -15°F, 0°F, 12°F}
D. {15°F,-8°F,0°F, 12 °F}

15. Which point can be represented by the

ordered pair (-1, 3)?

6

o n % >
O 0O w >

12. Which expressions are equivalent to -4?
Check all that apply.

[] -8+(-4) [] 3+(-7)
[] -1-3

O 2-¢2 JO

[] 36+(-9)

-2(-2)

16. Which of the following must be true for the
ordered pair (a, b) to be in the second

quadrant?

A. a>0andb>0
B. a<0andb<0
C. a>0andb<0
D. a<0andb>0
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Name: Math 6 Review: Packet #2

Topic A: Powers, Exponents, and Perfect Squares

Write each product in exponential form.

1.13-13-13-13:13:13:13-13 2. (-8):(-8):(-8)-(-8)-(-8)

3. (-2)-7-15-(-2)-7-(-2)-(-2)-7 4, X-X-Y-X-Y-X-X-X-yY-Y-yY-X

Write each number as a power of 10.

5. 10,000 6. 100,000,000,000

Evaluate.

7. 4* 8.19° 9. 7°

10. (-14)? 11. (-3)° 12. (-5)* - (-2)°

Indicate whether the number is a perfect square. If yes, rewrite as a number squared.

13. 36 14. 196 15. 180 16. 289

Topic B: Order of Operations

Simplify each expression.

1. 6(-4) +2(9) 2. 20-3.4? 8-5%+29
_1-2
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4. 8.(5-2°)-28+(-4) 34 n.s2e
T 11+ 6 12 610
Topic C: Evaluating Expressions
Evaluate each expression using the given variable replacements.
1. 4p-17 (ifp=-3)| 2. 8-3d (ifc=2,d=-4) |3. y*-9y (if y=-7)
4.3a-20  (fa=2b=2) |5 2 (fx=-2,y=-4) | 6 mn—n"+2m (fm=8n=4)

Topic D: Translating Expressions

Translate into an algebraic expression using a variable.

1. “16 subtracted from a number”

2. "the product of a number and -9"

3. "twice a number, increased by 7"

4. "the sum of one-third of a number and 4"
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5. "the quotient of 48 and a number” 6. "8less than the product of a number and 3"

7. Naomiran arace 7 seconds faster than her 8. Antonio bought X pounds of apples andy
friend Jenny. If Jenny ran theraceins pounds of bananas. If apples cost $1.30 per
seconds, write an expression for Naomi's time. pound and bananas cost $0.50 per pound,

write an expression for the total cost.

Topic E: Simplifying & Factoring Expressions

Identify the variable terms, coefficients, and constants of each expression.

Expression Variable Terms Coefficients Constant Terms

1. 20-3k+7k-9-k

2. -11-4a+3b-5+a-12b

Simplify each expression by combining like terms.

3. 11x-9+3x 4, -7 -3r+5r-12+r 5. —9c+14d —2d + 4c

Simplify each expression using the distributive property.

6. 3(8+11) 7. —7(8-2) 8. 9(k +3)

9. 3(2r-7s) 10. -5(2v +1) 11 E(Qgc +8)
"4

Simplify each expression completely.

12. 20 + 4(2m—1) 13. 3(1—4k) + 11k

» %(6)(_30)_“2 15. —2(a—b)+5(3a—b)
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Factor each expression using a GCF.

16. 70+28

17.

16-104 18. 6+42

19. 4x+24

20. 18w -8I 21. 48a+20b

Write three expressions that are equivalent to the given expression.

22. 12n+54

23. -4(2p+5q)

Topic F: Properties

Name the property that justifies each statement. (Property names are given below.)

1. 4.(-9-2)=(4--9)-2 2. 24c+9=3(8c+3)
3. 18+(-18)=0 4. 13+(-4)=(-4)+13
5 §+O:§ 6. (2a+b)+5c=2a+(b+5¢c)
6 6
7. 0=(c-d)-0 8. (-8r)-1=-8r
9. 18+(2-4b)=18+(4b-2) 10 2.2_]
"9 2
M. 7(v-1)=7v-7 12. -3k +3k =0
e Commutative Property of Addition e |dentity Property of Addition
e Commutative Property of Multiplication e |dentity Property of Multiplication
e Associative Property of Addition e Inverse Property of Addition
e Associative Property of Multiplication e Inverse Property of Multiplication

e Distributive Property

e Multiplication Property of Zero
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5. What operation should be performed first in
order to simplify the expression below?

Wath, 6 Lerieus

60-5(12 + 4)*
A. subtract 5 from 60
Name: .
B. multiply 5 and 12
Date: Per: C. divide 12 by 4
D. square 4
1. Which of the following expressions is
equivalent to 37-82? 6. Find the value of the expression below.
4+2°-8
A. (3:7)-(8-2) -3-1
B. 7.7.7.8.8
C.3.3.3.3.3-3-3-8-8
D. 3-3-3-3-3:-3-3:16 A. 26
B. -17
2. Of the list of values below, what is the C. .13
sum of the largest value and smallest value? "
D. -34
3%,12%, 6%, 4*
7. Find the value of the expression below if
a=-5andb=8.
A. 400 a2 —ab+2b
B. 385
C. 360
D. 325
A. 12
3. Write a number in the box that makes the B. 3
statement true. )
C. 36
D. 81

10— =1,000,000,000

8. Find the value of the expression below if x = 2.

7 8
4. What is the greatest perfect square between Z ) + X
250 and 3007
A. 256 5 13
B. 275 A 36 C
C. 289
B. 1 D. 7
D. 296 36 18
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9. Which expression represents 7 less than the
quotient of a number n and 3?

A. 7-3n C. 3(n-7)
n n

B. 7—— D. -7
3 3

13. Write the expression below in factored form
by writing the values in the boxes.

78 -30 =

10. Which statement about the expression below
is frue when it is written in simplest form?

8k -4-6+3k

A. 11isaconstant
B. -10is a constant
C. -2is a coefficient
D. 5isa coefficient

14. Which of the following is equivalent to the
factored form of the expression below?

16m + 40

A. 8-2m+8-5
B. 4-4m+10 4
C. 8(2m+5)
D. 4(4m +10)

11. Simplify the expression below. Write your
answer in the box.

-7(2y + 5)

15. Which statement can be justified by the
commutative property of multiplication?

A. 14(8+5)=14-8+14-5
B. (2:7)+8=8+(2-7)

C. 6(4x+y)=(4x+y)b

D. (2p-3q)-7r=2p-(3q-7r)

12. Which of the following represents the
expression below in simplest form?

7(c—2d)-4d + 3c

A. 10c-18d
B. 10c-9d
C. 4c-18d
D. 4c-9%d

16. Which property is illustrated by the statement
below?
E . E +0= E . E
3 2 3 2

A. Inverse Property of Multiplication
B. Multiplicative Property of Zero
C. Inverse Property of Addition

D. Identity Property of Addition
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Name:

Math 6 Review: Packet #3

Topic A: Solving One-Step Equations

Solve each equation. Check all solutions.

1. x+7=23 2. 42=6p 3. y-5=-8
4 2 _ 4 5.7=m-(-9) 6. 8c=-72
—4
7.r+(-4)=11 8. L=28 9. 32.1=4.7+v
1.4
10. x+l=E 11. ]Zzém 12. c+£=2l
6 15 ? 6 12 10

Translate each sentence into an equation. Do not solve.

13. “The sum of 9 and a number is -4"

14. “The quotient of a number and 7 is -12.”

15. “The product of a number and -3 is -42.”

16. "8 less than a numberis 34.”
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Topic B: One-Step Equation Word Problems

Use a variable to write a one-step equation to solve the problem. Then solve.

1. Alarge bag of lollipops were equally
distributed into 28 smaller bags. If each bag
contains 6 lollipops, how many total lollipops
are there?

2. Juliais buying a watch for $105. If she is using
a gift card that has a remaining balance of
$28.43, how much will she have remaining to

pay?

Equation Solution

Equation Solution

3. Devin's paycheck was $179 less this week
than his paycheck last week. If he made
$348 this week, how much did he make last
week?

4. Cheryl has been teaching for 18 years. If this
is two-thirds the number of years that Tom has
been teaching, how long has Tom been
teaching?

Equation Solution

Equation Solution

Topic C: Representing Inequalities

Write an inequality to represent the graph.

1. Ol D, ii————>
1 2 3 4 5 6 7 13 -12 -11 10 9 8 -7

3. T O—————— l, C———— | | >
13 14 15 16 17 18 19 23 -22 -21 -20 -19 -18 -17

Write each sentence as an inequality, then graph.

Verbal Description

Inequality

5. "A number is less than 12."

6. "A numberis at least -5."

A
\4

7. "A numberis a maximum of 9.”

A
A 4
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8. "-2is more than a number”

9. “The number of points scored in o . . . . . N
each game was no less than 16.” S ' ' ' ' ' T
Topic D: Solving One-Step Inequalities
Solve and graph the solution to each inequaility.
1l.w-4>5 2. 7c>-28 3 & ¢
-3
4, -8>m+3 5.53—2 6. 7p<l4
4

7. y-(-6)>13 8. 1.8r<45 9 , 1255

3 6
Determine whether the given value is a solution to the inequality.
10. x<-9; x=-13 11.n>-8, n=-25 12.C2§;C:z

4 20
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13. k+9<4, k=-5 14. 7.56>7-3.89,2=11.088 r

15, — <-9:r=10

Write each sentence as an inequality. Do not solve.

16. “The difference of a number and 7 is greater
than 20.”

17. “15 more than a number is at most -4."

18. “-42 is less than or equal to the product of a
-6 and a number.”

19. “A number divided by 5 has a minimum
value of 14.”

Topic E: One-Step Inequality Word Problems

Use a variable to write a one-step inequality to solve the problem. Then solve.

1. Jack has lost a minimum of 25 pounds in the
past six months. If his current weight is 248,
what was his starting weighte

2. The cost of a case of wateris $3.20. If you
can spend at most $20, how many cases can
you buy?

Inequality Solution

Inequality Solution

3. Lana would like to spend at least $15 on each
of her 9 grandchildren for Christmas. How
much money will she need?

4. Trevor and Cara played in a bowling
tournament. Their goal was a combined
score of 425. If they did not meet their goal
and Trevor scored 232, what was Cara’s
score?¢

Inequality Solution

Inequality Solution
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Wath, 6 Lerieus
QUIZ 3

Name:

Date: Per:

4. Which equation has a solution of w = 5?

A w+(-0)=6

B. w+3=2

w
. —=10
¢ 2

D. 1.8w=9

1. Solve the equation below. Write your solution
in the box.

m+11=-4

m=

2. What is the solution to the following equation?

48 =

o <

A.y=6

B. y=40
C.y=56
D. y=2384

5. The maximum height that Caitlin climbed on
a mountain was h feet. Once she reached
this point, she descended 150 feet to eat
lunch at a height of 1300 feet. Check the
equation in the Column 1 and the solution
in Column 2 that represents h.

[ ] h=150=1300 [] h=1150

[] h+150=1300 [] h=1450

6. After 6 people boarded a bus, the bus had
48 people. Which equation can be used to
find n, the number of people on the bus
before the 6 people boarded?

n
6
n

A. =48

B. n—6=48
C. 6n=48

D. n+6=48

3. What is the solution to the equation below?

k=311

4 10
3 13
1= . 2—
A. 20 c 20
7 17
B. 1— A
20 D. 220

7. It costs $1.60 per pound to mail a package.
Find the weight of a package that cost $11.52
to mail.

6.4 pounds
7.2 pounds
9.8 pounds

onw >

12.6 pounds
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8. Which graphs represents all numbers that are
a minimum of 6?

A, Ep————f—— >
2 3 4 5 6 7 8 9
B. Ittt O—i—t—
2 3 4 5 6 7 8 9
C. -—t—t——ip—i—@——F—>
2 3 4 5 6 7 8 9
D. «—F—F—"Ft—"F Ottt
2 3 4 5 6 7 8 9

12. Which represents the solution to the
inequality below?

a-(-8)=>2

A. a=-10
B. a=10
C. a4
D

az-6

9. Which inequality could represent the set of
numbers, n, shown on the graph below?

) —————1—>
6 -5 -4 3 2 -1 0 1

A. -22n

B. -2<n

C. -2>n

D. -2<n

13. The high temperature yesterday was more
than 10° degrees below normal. If the
normal high temperature for that day is 65°,
which inequality represents t, yesterday’s
high temperature?

A. t<55°
B. t=55°
C. t<55°
D. t>55°

10. Given p > -7, in which list is each number a
possible value of p?

A. {7,-2,0}
B. {-4,-1,3}
C. {17,-11,-9}
D. {-20,-13,-7}

14. Greg burns 8 calories per minute running.
If he wants to burn more than 100 calories
running at the same rate, which inequality
represents the possible values for m, the
number of minutes Greg will need to run?

A. m>12.5
B. m<12.5
C. m>0.38
D. m<0.8

11. Which number line represents the solution to

-2X > -67?

A. G p—_————_—
4 6 8 10 12 14 16 18

C. R e

15. Mia has $700 in her checking account. She
wants to use part of this money to purchase
a new laptop. If she wants to have at least
$250 in her account after purchasing the
laptop, which inequality represents s, the
amount of money she can spend?

A. $<$950
B. s<%$450
C. s>$950
D. s> $450
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Name:

Math 6 Review: Packet #4

Topic A: Writing Ratios, Simplifying Ratios, Equivalent Ratios

Alexa’s math grades are given in the table below. Write each ratio in simplest form in three ways.

1. A'stoB’s 2. B’'s to total grades 3. C'stoB’s
A | T
B | ]l
c|
List two equivalent ratios for each ratio.
18
4. 83 5. VG

Fill in a box with a value that makes the ratios equivalent.

6.

7:3 and

112

Determine whether the ratios are equivalent.

9.

£ and é
56 8

7. E and i 8. ﬁ and E
36 18
10. 4t09; 1610 36 10. iond E
12 48

12. To create a certain color, Mari mixes 3 drops | 13. There are 56 girls and 32 boys in band. The

of blue food coloring for every 5 drops of red ratio of girls to boys that play clarinet in the
food coloring. If she uses 18 drops of blue band is the same as the ratio of girls to boys
food coloring, how many drops of red does in the entire band. If there are 7 girls that

she need? play clarinet, how many boys play clarinet?

Topic B: Rafio Tables and Graphs

Complete each ratio table.

1.

White Red
Roses Roses
5 8

16
25

2. 3
Sugar (tsp) | Calories Tickets Cost ($)
1 1
5 80 2 15
12 6
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4. Jeremy is a car salesman. Last year, he sold two trucks
for every three cars he sold. Create a ratio table and A

graph to show this relationship.

Trucks

Cars

Topic C: Unit Rates; Comparing Rates

Write each rate as a unit rate.

1.

172 miles in 4 hours

2. 15 grams of fat in 6 cookies 3. 336 pointsin 16 games

4. If it took 27 minutes to fill a 432-gallon hot tub, | 5. The table below gives the amount of time, in

find the number of gallons per minute. minutes, it took three people to run a certain

distance. Who ran the least minutes per mile?2

Miles Minutes
Molly 8 52
Nathan 5 36
Darnell 12 72

Determine if Option A or Option B is the better deal. Justify your answer using unit prices.

6.
O Option A: $11 for 5 books Unit Price:
O Option B: $30 for 12 books Unit Price:
7.
O Option A: 28 ounces of orange juice for $3.92 Unit Price:
O Option B: 40 ounces of orange juice for $4.80 Unit Price:
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Topic D: Proportional Relationships

Determine whether the quantities shown in each table or graph represent a proportional
relationship. If yes, give the constant of proportionality, k.

1. 2. 3.
Time (h) | Earnings ($) Time (s) | Distance (ft) Boys Girls
2 28 5 16 2 8
3 42 10 32 5 20
5 70 15 48 12 42
2 126 20 64 16 52
4 - 20‘ 5. 10 A
o
~ 16 ~ 8
g ) ol
‘E 12 EREN £ s
o o
o 8 ° 9o 4
£ -|-o S P
2 4T O 2 f
l > juERaNE| 5
2 4 6 8 10 2 4 6 8 10
Time (m) Water (oz)

Topic E: Converting Fractions, Decimals, and Percents

Complete the chart below.

FRACTION DECIMAL PERCENT
1 Z
25
2 2
5
1
3 —
8
4. >
12
5. 0.325
6. 2.1
7. 0.78
8. 87.5%
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FRACTION DECIMAL PERCENT
9. 135%
10. 4%

Topic F: Comparing Fractions, Decimals, and Percents

Compare by placing a <, >, or = symbol in the circle.

1. 120% Q 0.975

13
2. — 8%
0 ()

3 1
3. EQE

]
4. 130% Q 1
3

17
20

6

5

7
9% i
6 7tao

7. Order from least to greatest:

8. Order from greatest to least:

2 3 2 7
=,30%, 1.2, = =, 8%, —, 0.65
577 8 3770
Topic G: Percent of a Number
Find the percent of each number.
1. 70% of 60 2. 35% of 140 3. 4% of 275
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4. 56% of 95 5. 180% of 15 6. 325% of 40

7. Chelsea answers customer service calls for a 8. There are 180 days in a school year. If your

company for $14.50 per hour. The company teacher says you have completed 65% of the
is offering her a new position that pays 120% school year, how many days do you have left
more per hour than her previous position. If of school?2

she accepts, what will be her new pay?

Topic H: Negative Rational Numbers (Fractions and Decimals Only)

Give each absolute value.

—‘ 2. |-3.45 3. ‘—1—‘ 4. 0.194

Compare by placing a <, >, or = symbol in the circle.

5 -2 _n 6. 12 Q 3 7. —7.918@ _7.04
8 16 6 4

8. Order from least to greatest: 9. Order from greatest to least:
—0.098,—1, -0.12 —1l, —1.8,—1l
4 20 2
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Wath, 6 Lerieus
QUIZ 4

Name:

Date: Per:

1. Which ratio represents the number of vowels
to total letters in the word JACKSONVILLE?

A. 1to4
B. 1to3
C. 1to2
D. 2to 3

5. Printer A took 8 minutes to print a 92-page
document. Printer B took 5 minutes to print a
60-page document. Which statement is true?

A. Printer A prints more pages per minute
B. Printer B prints more pages per minute.

C. Printer A and Printer B print the same
number of pages per minute.

2. Write a number in the box below to create
equivalent ratios.

7 and 56:32

3. The ratio of cats to dogs at a pet shelter is
4 to 3. If there are 36 dogs, how many cats
are there?

A. 27
B. 36
C. 48
D. 52

6. The prices of four bottles of shampoo are
shown below. Which bottle costs the least
per ounce?

Size (oz)| Price
A 10 $7
B 15 $9
Cc 16 $12
D 25 $18
A. Bofttle A C. Bottle C
B. Boftle B D. Bottle D

4. A 32-ounce container of apple juice contains
80 grams of sugar. If this information is
organized into the ratio table below, what are
the values of x and y?

Apple Juice (oz) 1 y 32
Sugar (g) X 10 | 80
A. Xx=2,y=4 C. x=25y=4
B. x=2,y=8 D. x=25,y=8

7. In which table is the relationship between
labor hours and cost proportional?

A Labor Hours 1 3 5
Cost (9) 75 225 375

B Labor Hours 1 2 3
" | cost($) 60 60 60

c Labor Hours 1 4 8
" | Cost($) 50 | 240 | 560

Labor Hours 1 2 3

D.

Cost (S) 80 150 240
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8. The math club is selling boxes of cookies for a
fundraiser. The graph below shows their profit
on each box sold. What is their profit per box?

F s A. $0.80
%m B. $1.10
- C. $1.25

5 D. $1.50

>

4 8 12 16 20
Boxes of Cookies

12. What is 4% of 80? Write your answer in
the box.

9. Ruby spent 28% of her paycheck paying
bills. What fraction of her paycheck is left?

13 7
A. 50 C. 25

37 18
B. — =

50 D. 25

13. Ben’s cell phone bill is typically $150.
This month, it was 120% his typical bill.
What is Ben’s cell phone bill this month?

A. $30
B. 3$80
C. $180
D. $200

10. Of the 320 sixth grade students, 192 buy
their lunch each day. What percent buy
their lunch?

A. 40%
B. 460%
C. 65%
D. 70%

11. Four students are reading the same book.
The table below gives the portion of the book
that each has read so far. Which student
has read the most?

Ryan Zena Evelyn Grady

13 8% 0.7 >

20 8

Ryan
Zena
Evelyn
Grady

o0 ®»p

14. A waiter earned a 16% tip on a $45 dinner
bill. How much was the waiter's tip?

A. $7.20
B. $7.50
C. $7.80
D. $8.20

15. Which list gives the numbers in order
from least value to greatest value?

A. {—21,—2.085, —2%, —2.716}
B. 1-2.716, 2— 2,085, —2l}

1

C. {2085 2— -2.716, 290}
{ 2— -2.716, - 22 —2085}

o
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Name:

Math 6 Review: Packet #5

Topic A: Congruent Segments, Angles, & Polygons

figures to show the relationships.

1. If the figures below are congruent, list all congruent sides and angles and place markings on the

P E

=

R Q D

Sides Angles

Determine whether the figures are congruent.

Q 3//¢.\\ 4-j H L__JIL
i 3 o

. The figures below are congruent. Use the figures
below to answer each question.
Q
B_6ft

° R
81 157° 14 ft
8 ft

A 18 ft D

a) What side corresponds to CD?

b) What is the length of ST 2

¢) What angle corresponds to /B ¢

d) What is the measure of /R 2

Topic B: Perimeter and Area of Rectangles, Parallelograms, Triangles, & Trapezoids

Find the perimeter of each figure.

1. T 2,
L]
T T 2§in
I ] 1 [
9.2 mi 5,
Find the area of each figure.
S 4. 124 ft 5.
i &
59m 521 | 4.4 ft 14 yd
1
12.4 ft
ml ]
3.7m 9.3yd
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7. 8. am

23cm
10cm\ / 118 m
/8cm ;

18 cm ]
14in 34m

9. Abby is covering a corner shelf in her kitchen 10. Gino is painting a wall in his living room. The

with shelving liner. The dimensions of the shelf dimensions of the wall are given below. Find
are given below. What is the minimum the area of the wall that he will cover.
amount of liner she will need?

15.6 ft

16 ft
9 ft
28in
14 ft

Topic C: Polygons on the Coordinate Plane

Graph the figure with the given vertices, then find its perimeter and area.

1. J(-5. 1), K(2, 1), L(2, -6), M(-5, -6) 2. E(-1,7), K@, 7). G(3,-2), H(-1, -2)
A A
\ 4 A\ 4

Graph the figure with the given vertices, then find its area.

3. R(-5, 4), S(8, 1), T(-5, -4) 4. A(-7, 3), B(0, 3), C(3, -7), D(-4, -7)
A A
v A\ 4
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Topic D: Area of Composite Figures

Find the area of each figure.

1. 9 ft

=

19 ft

7 ft

A
\ 4
A
\ 4

Topic E: Circumference & Area of Circles

Find the circumference of each circle. Use 3.14 for pi.

1. 2.

Find the area of each circle. Use 3.14 for pi.

3. 4.

17 ft

(&
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5. Barry has a circular table with an 7-foot
diameter. If he would like to cover the table
with newspaper for an art project, what is the
minimum amount of paper he will need?

with a radius of 15 feet. If she needs to

Rachel has a circular pen for her chickens

replace the fencing, how much fencing will
she need?

Topic F: Surface Area of Prisms & Pyramids

Find the surface area of each figure using the given net.

1.
------------------- \ 5cm
7in [1.8in
12in 9cm
12cm
3. 4. Assume an equilateral base.
7.8 km
10.6 yd 6.5 km
7 yd 9 km

7 yd
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5. Abar of soap is in the shape of a rectangular
prism with the dimensions given below. The
manufacturing company needs to know the
minimum amount of material needed to
construct a box for the soap.

1.5in

2in

3.5in

6. Kevin is planning to build a jumping box to
use with his daily workouts. The dimensions of
the box he wants to build are given below.

What is the minimum amount of plywood he
will need?

24 1in

20in

32in

Topic G: Volume of Rectangular Prisms

Find the volume of each rectangular prism.

1.

2.

6m

=4[ 27m

9cm

____________

4.

An inground pool is in the shape of a
rectangular prism. The poolis 18 feet long by
12 feet wide with a depth of 5 feet. Whatis

the maximum amount of water the pool can
hold?

5. The bed of a dump fruck in the shape of a
rectangular prism is completely filled (but not
overfilled) with 567 cubic feet of dirt. If the

bedis 18 feet long by 7 feet wide, how deep
is the bed?
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Wath, 6 Lerieus
QUIZ 5

Name:

Date: Per:

1. If the two figures below are congruent,
complete the statement below.

4. Find the area of the figure below.

19 mm

U

A. 232.5 mm?
B. 242 mm?
C. 255 mm?
D. 258.5 mm?

5. Find the area of the figure below.

A

| *[] =1 square mile
g »
AN et

AB =

A
\ 4

2. Lance is enclosing a rectangular garden with
fencing. If the perimeter of the garden is
30 meters, check the two measurements that

could represent the dimensions of the garden.

[] 3meters [] 6meters

[] 8meters

[] 4meters

[] 5meters [] 11 meters

anng

\ 4

A. 55 mi?2
B. 59 mi?
C. 62 mi?
D. 67 mi?

3. Find the area of the figure below.

14 ft 11t

N
5ft
.
18 ft
A. 108 ft2 C. 121.5ft?
B. 114.5ft2 D. 132 ft?

6. Using the graph below, find the area of a
triangle formed by the points (-2, 0), (4, 8),
and (6, -5).

A

A
Y

A. 56 square units C. 39 square units

B. 48 square units D. 52 square units
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7. The minute-hand on a large clock is 18 inches
long. Which is closest to the distance the tip of
the hand will travel in one rotation?

A. 56.52 inches
B. 74.68 inches
C. 113.04inches
D. 128.36 inches

8. A circular rug has a diameter of 7 feet. Which
is closest to the amount of fabric used to
make the rug?

A. 38.5 ft?
B. 51.2ff?
C. 104.1 ft2
D. 153.9 ff2

10. The net of a square pyramid along with its
dimensions are shown below. What is the
total surface area of the pyramid?

A. 480 cm?
B. 216 cm?
C. 200 cm?
D. 184 cm?

9. Arectangular prism and its net are shown
below. What is the total surface area of the
prism?

3.5in

211in

2in

. 554in?

570in?
. 583in?
. 588in?

o0 ®>»

11. What is the volume of the rectangular prism
below? Write your answer in the box.

21'm

7.2m

12. A flower box in the shape of a rectangular
prism along with its dimensions are given
below. What is the maximum amount of soil
the box can hold without overfilling it?

ZfT
R P — :
: 1§f’r
2— ft
1 3
2_ #3 22 m3
A. > ft C. 2 ft
5 7
B. 2— ft3 2. 3
3 D. 15 ft
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Name: Math 6 Review: Packet #6

Topic A: Measures of Center & Range

Find the mean, median, mode(s), and range for each of the following data sets.

1. The high temperature for the past nine days: Mean:
{57, 61, 57, 58, 58, 57, 61, 54, 68}
Median:
Mode(s):
Range:
2. The prices, in dollars, of six laptops: {5620, 750, 700, 540, 460, 390} Mean:
Median:
Mode(s):
Range:
3. Marissa’s grades on nine tests are given below. Identify the Identify the Outlier:
outlier, then find the measures with and without the outlier.
{92, 88, 88, 92, 100, 88, 37, 98, 82} With Outlier Without Outlier
Mean: Mean:
Median: Median:
Mode(s): Mode(s):
Range: Range:

Determine which measure of center is most appropriate. Explain your reasoning.

4. Weights, in pounds, of 15 dogs: {55, 62, 48, 59, 74, 165, 70, 56, 82, 64, 71, 60, 53, 78, 63}

Best Center: Why?

5. Ages of 12 players on a basketball team: {11, 10, 11, 11, 8, 11, 12,11, 9,10, 11, 12}

Best Center: Why?

6. The speed of the last 10 pitches thrown by a pitcher: {90, 92, 85, 88, 94, 86, 93, 90, 88, 95}

Best Center: Why?
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7. All digital cameras in an electronics store are | 8. A football team has scored a different
on sale for 20% off for the weekend. How does number of points in each of their first five
this affect the mean, median, mode, and games. If they score more points in the sixth

range of prices of the cameras? game than any prior game, how will this
affect the mean, median, mode, and range

number of points per game scored?

Topic B: Dot Plots & Stem-and-Leaf Plots

The ages of the players on a hockey team are shown below.
1. Compare the median and mode ages.

Ages (Years) 2. How many players are no more than 24 years old?

The time it took a group of students to complete a test is shown below.
3. Find the mean.

Minutes
Stem | Ledf
215 8
310 4 7 9
411 3 3 5 7
5|6
4. How many students took more than 30 minutes to

complete the test?

[ Key: 2|5 = 25 minutes ]

Topic C: Mean Absolute Deviation

Find the mean absolute deviation of each set of data.
1. The heights, in inches, of six people: 2. The average heart rates, in beats per minute,
{62, 65, 68,77,71, 59} of five people in a cycling class:
{145, 168, 156, 134, 162}
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3. Two classes, Class A and Class B, fook the same test. Both classes had the same mean score on
the test. However, the mean absolute deviation of Class A was 10 and Class B was 2. What

does this information reveal about the individual scores in each class?e

Topic D: Box-and-Whisker Plots

Draw the box-and-whisker plot, then give the five-number summary, range, and interquartile range (IQR).

1. The height, in inches, of nine trees at a free farm:
{56, 68, 45, 65, 63, 49, 75, 51, 72}

Minimum:
Lower Quartile:
Median:

Upper Quartile:
Maximum:

Range:

IQR:

2. Points scored by a football team in each of their sixteen games:
{17, 21, 25, 23, 20, 27, 16, 24, 17, 14, 21, 28, 23, 30, 14, 27}

Minimum:
Lower Quartile:
Median:

Upper Quartile:
Maximum:

Range:

IQR:

Topic E: Histograms

1. Students were asked the numbers of letters in their last name. The results are shown below.
Organize the data in a frequency table, then make a histogram to display the data.

{5.8,9,11,9,6,7,5,5,10, 8, 4,56,

7,11,4,3,8,8,510,6,5,8,12}

Interval Frequency
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The histogram below shows the number of hours worked in a single week by each employee at a

company.

Hours Worked in a Week

2. How many employees worked 30 hours at most?

3. What percent of the

employees worked

between 16 and 20 hours?

Number of Employees

16-20 21-25 26-30 31-35 36-40

Hours

4. What percent of the
employees worked a
minimum of 26 hourse

Topic F: Circle Graphs

1. A group of students were asked how they get to and from school each day. The results are shown

in the table below. Make a circle graph to display the data.

Transportation Number
to/from School | of Students
Bus 87
Bike 18
Car 33
Walk 12

A new jacket comes in four colors. The circle graph below represents the last 200 jacket orders.

Jacket Orders 2,

15%

9%

28%

E Green |:| Blue
Purple Red

48%

How many of the orders were
for a green jacket?e

3. How many of the orders were
for a purple or ared jacket?2
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Wath, 6 Lerieus
QUIZ 6

Name:

Date: Per:

3. What is the median number of pounds lost?

A. 15
B. 16
C. 17
D. 18

1. If 26 is added to the list of numbers below,
which measures will not change? Check all
that apply.

{7,11,15,15, 22}

[ ] Mode

|:| Mean

[] Median

4. What is the range? Write your answer in the
box.

2. The data below represent the number of
students in 8 classes. Which measure is the
greatest?

{25, 23, 32,19, 28, 29, 23, 21}

mean
median
mode

coo®»

range

5. The list below represents the heights, in
inches, of nine books lined up on a shelf.
Which action will cause the median height to
increase but the range of heights to remain
the same?

{6,7,7,8,8,10,12, 14, 16}

A. removing the shortest book

B. removing the tallest book

C. adding another book that is 6 inches tall
D. adding another book that is 16 inches tall

Use for questions 3 and 4: Employees at a
company were invited to participate in
a 3-month-long weight loss challenge.

The stem-and-leaf plot below shows the
number of pounds each participant lost.

Stem | Ledf

0|59

1102 255 689
21001 37
311 4

‘ Key: 3| 4 = 34 pounds

6. Jaxson is a customer service specialist for a
cable company. The data below represents
the length, in minutes, of his last six service
calls. What is the mean absolute deviation for
this set of data?

{12, 53, 25, 37, 20, 45}

A. 13

C. 15
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7. The box-and-whisker plot below represents
the golf scores by a group of golfers. Which
list could represent the individual scores?

A. {68, 70, 70,72, 74, 74,78, 80}
B. {68, 70,72, 72,72, 74, 76, 80}
C. {68, 69,71,72,72, 74,76, 80}
D. {68, 69,71,71,73, 74,78, 80}

8. The box-and-whisker plot below shows the
number of points scored by a football team in
each game in their 2019 season compared to
their 2020 season. Which measure is the same
for both seasons?

Points Scored Per Game (2019)

| S N I I [ I S N
1 Ll

i ; ;
16 20 24 28 32 36 40 44

—t t

Points Scored Per Game (2020)

A. median

B. lower quartile

C. range

D. interquartile range

Frequency

10. Mr. Abrams gave a test to his math students.
The histogram below represents the
distribution of scores. What percent of his
students had a score that was at most 807

A.
B.

56

48

40

32

24

16

8

51-60 61-70 71-80 81-90 21-100
Test Scores

30% C. 40%
35% D. 45%

9. The dot plot below shows the number of
books read by a group of 20 students over
the summer. Which statement is true?

\ 4

&
<

!
0

o1 o000
w1+ 0000

T o
oT eee

° °
2 4

Number of Books Read

median = 6, interquartile range = 3
median = 6, interquartile range = 4
median = 7, interquartile range = 3
median = 7, interquartile range = 4

o0 w® >

28%

Use for questions 11 and 12: Beth exercised for
350 minutes last week. The circle graph below
represents the amount of minutes she spent
running, swimming, cycling, and lifting weights.

8%

running

18%

swimming

cycling

lifting weights

/

46%

B.
C.
D.

11. How many minutes did she spend cycling?

A. 92

98
104
112

12.

A.

B.
C.
D

In which two activities did she spend exactly
189 minutes?

. liffing weights and running

swimming and running
cycling and running
swimming and cycling
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Name:

Math 6 Review: Packet #1

ic A ane Factorization, GCF, ond LCM -

Determine wheiher the number is prime or composite.

1. 233 2. 864 3. 597 4. 1,109

Prime Com osite Composite Prime
Write the prime factorization of each number.
5.75 6. 56

25 -+ 3 1.9

553 7-2- 4

7-2-22
2
3. 5 23 .7

7. 810 8. 1,872

). 10 H. 468

9.9.2.5 2;’;’2 ';—lq 12

3.3.2.3.2-5 I

[737.5]| 22223313
Find the greatest common factor (GCF) of each set of numbers.
9. 64 and 48 10. 72and 156 11. 45and 108
4: 8.9 43: 1L-3 12: 8.9 156:3.52 |45:5.9 log:9.12
2.4.2.4 H.4.3 2-4.3-3 3.4.13 5@ 3-3.3.4
gzzdrr @22D3 | 28233 G221 &322
24 =[14) 2.3 =[i2] 3*=[1
Find the least common multiple (LCM) of each set of nhumbers.
12. 18 and 30 13. 24 and 40 14. 12 and 28
18: 3.0 36: 3.10 |24 L4 Ho: 4.10 12. 3.4 28:. 4.1
DY 206 | @C2D 2.2.20|  ©CD 22.6)
. 2
2:3*.5 =[q¢ 2%-3-5 =[120] 2°-3.1 = [p4]

Indicate whether you would use a GCF or LCM to solve the problem. Then solve.

each bag?
go: %10

2-2-S
222D

32- 4.9
2-2:2-4

gz

18. Kiara has 80 lollipops and 32 Snicker bars. She is filling individual bags for Halloween and would
like each bag to contain the same combination of lollipops and Snicker bars. How many bags
can she fill if she wishes to have no candy leftover?2 How many lollipops and Snicker bars are in

GeF: 29=10

Ly baas: Blollipaps and 2
U Sm((lsr bars .
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0~

2®

12:

4.3
e2®

LCM:

16. Corey is stacking 10-inch boxes while Dale is stacking 12-inch boxes. They plan to stop when
their stacks are the exact same height. At what height will this be?

2%.3.5

= (O

L0 'mchesJ

i

'I'oplc B: Operahons with Fractions and Decimals -

Evaluate. Write each answer as a fraction or mixed number in simplest form.

1.4 2 L, 29 1.1 -4y 3,57 - A4 8§81
1. 4+4<S 3 + = 2.58 26 2 ..Ts_ 3.14+5]O m + >
- - = 35+ 04
=3 4 58 = 123 _ 52 =
12 12 24 24
a 71 = 149
= Ll 29 o
|
| = =13
|51 £ =t
_].. é l_l = s ~ =3 6 2_ - .D- -
4.35:22 5. 4gvly = 22 T 3 s 4
w2Z, 17 S5 42 =17 o
| T —,
3 3 7 5' S e
=43
a | 1 = Lz_)_. 20
2.1 3
=2 L.
= 19 l33
8z.|
Evaluaie.
7. 2495+ 176.089 8.98.1 — 14.726 9. 3.59(17)
(0, 710 9,p
17 ¢.089 8.} 9% 3.5
+ 24.950 - 1H.126 x |1
—_—F7a 3.3 14 28 1 8
201.039 3590
b 1.0 3
20].039 %3.314 (,f.oai
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10. 80.95(0.04) 11. 7.8(1512) 12. 732+8
5 q.15
€0.95 ‘ ~'28 8 [12.20
X 0.04 _"___;‘_‘7 2
o2z O (20 12
3.23% 05 €40 ‘Eq
— 0
1 1.9360 . !D
0
ZZ‘E 117.936 @
6195 918 15. 212+265
13.T 4 14'ﬂ 21 9
A3 34[918 2b5[212.0
5[ w98
10 - L8 -2120
19 238 O
-15 - 238
45 0
-4$
O
4.13 E

- Topic C: Appllcchons with Frac’non and Decimal Opera'nons

1. A trail 1hof wraps around a lake is 1= mlles
long. Mara completed one lap c:round the
lake. If she ran gof the distance and walked
the rest. How far did she run?

318 [
T (&) - 5%

3

2

2. A piece of wire is 302 3 inches Iong. How many
pieces of wire can be cut from this if each
piece must be lZ inches long?

2z . 3
303 . \q %.‘:&4
=69 = 3
Rk |

n a‘iCE;SJ

3. Nick bought 1 % pounds of green apples and

] % pounds of red apples. How many total
pounds of apples did he buy?

(L-38 i 1 3.6
‘% t l# = Ay, ’7.5]-' 1.20 * l2o0]ib3%.00
L
- 120
=22 LIS 4 38
1z 12 -3L0
180
=21 . i3l opunds 1 =120
! iz P 12. 05 M‘.lcsl G6o
=l 00,

4. A taxi service charges $1.20 per mile. If Serena
paid $16.38 for aride to the airport, how
many miles was the trip?

Q
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5. Jana's six children bought her a gift for her
birthday and split the total cost evenly. If the
gift cost $155.40, how much did each person

pay¢
25.90
.40
LE—SL“L lal\SS‘.'-fo
-2
3s
-30
sY
-5

Oo

\#25‘.%. 2o

6. If salamiis on sale for $9.68 per pound, find
the total cost for 1.5 pounds.

9.L8

x [|.§
q4 840
r 9080

14.520

, Topic D: Froc’no

ns vs. Decimals

Write each decimal asa frclcﬂon or mixed number

in simplest form.

1. 2.8 2. 1295 3.7.125
- as.
2% - (23] 23 -[ed | 1 [i2
Write each fraction or mixed number as a decimal.
7 27 5
4, 3— 5. = l._O___4-915 61— 0.91 L b
25 0.2% 40 4o 21.000 12
25T~ 50" -21.2 12 {8.0000
.50 L e £ 2
i 300 20
200 -280
————— - l 2-
-200 200 ——-—5—5—
——5 -1 =
=72
3.2 ’
-2¢ ‘o.mfz I
: Topic E: Infegers and Integer Operations
1. Wnte an mteger fo model each situation. 2. Name the opposite of ecch ln'reger
a) a $60 profit V19) - .
a) 19 "1 b) 43 ~ 13
b) a 7-yard loss -
; 1 - 2
¢) a 125-foot descent ~128 c) 7 d 26 _£b
Give each absolute value.
3. 40| H0 a.|-17] |1 5.|21] Z| 6. |-91 9

© Gina Wilson (All Things Algebra®, LLC), 2020



7. Order from least to greatest:
-13,4,-9,-17,0, -5

"l—"_lgl 'q, "5, 0, .',

8. Order from greatest to least:
-46, -52, -57, -41, -60

-41,-46, -52, -51, -0

Graph each integer at the dot on the number line.

Then, number the rest of the line.

9.3 10. -16
® )
P2 [N N [ N [ NN (NN NN AN S S I N (RN N NN NN RN SN N SR N I
T T & "7t 11 |[|[<—7T—— T 11"+ "—7T— 1717
H4 -3 -2 - 01t 2 345 b -8 -1 -k S - 3 -z -l -10 9 -8
Find each sum or difference.
11. -9+(-5) 12. 27 +(-19) 13. -7+31
-14 4 24
14. 8+ (-1 15. 6 +(-6) 16. -51+16
-3 o -3$
17.7-12 18. -6-17 19. 14-(-12)
-2
-5 3 2L
20. -13-13 21. -8-(-3) 22. -4-(-15)
- 206 -5 I
Find each product or quotient.
23. 7-(-4) 24, -9.(-8) 25. -2-16
-2% 12 32
26. 17(4) 27. -5(13) 28. -6-(-8)
4 -5 43
29. -40+(-8) 30. % a1 _—%é
- -9 -1
S
32. 56+8 33, 14 34. 0:(-8)
1 undefined 0
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opic F Appllcahons Wi

th lnteger Operations .. s

1. The stock morke'r ended the day on Monday
at 179 points. If the market closes the
following day 414 points below Monday, find
the closing number on Tuesday.

179+ (414) = 1na -414

[-235 |

]

2. Over the course of 4 ploys a footboll tecm
lost § yards, gained 2 yards, lost 8 yards, then
gained 14 yards. Find the team’s total
change in yards on the 4 plays.
-5 +2 +(-%) +14
-3 +(-9) 414
-1l +14

3. A car depreciated by $2000 in one year. Find
the average change in value each month.

180
~000 12 [q000
12 -84

%)

\f" 150/ monwth =5

4. Sarahis hiking in a valley at an elevation of
-68 feet. If she continues to decend at a rate
of 8 feet per minute, find her elevation after
15 minutes.

-8 + (-8)UIS)
-8 + (-120)

=[1z8 4+

5. A submarine is located 875 feet below sea
level. If ahelicopter is located 6,200 feet
directly above the submarine, find the

6. A hot-air balloon is descending at a rate of
185 feet per minute. Find the change in
position of the hot-air balloon after 6 minutes.

altitude of the helicopter. ~185 ( b\ 185
-315 + k200 x b
{5325 £+ 1o
| -1110 Peet
\ Q ‘— Topic G: The Coordinate Plane
Idenhfy ihe ordered pair and location (quadrant or axis) for each point on ihe groph
IE’ 1 Point Ordered Pair Location
V ‘C A (-ll ] ‘Z\ Quﬂ.ﬁl .]H
B (- Quad I
1 c (3,5 Quad T
) 1 I 0 (0, ) y- Oxis
14 E (. 4,8 ) @\Lﬂﬂ\ I
1D F (1,0) X-A¥iS
G (0,0) brigin
v H (-3.1) Quad T

© Gina Wilson {(All Things Algebra®, LLC), 2020




MWath © Leniemy
QUIZ 1

Name:

Date: Per:

1. Which list of numbers contains only prime
numbers?

A. (31,63, 97}
{23, 89, 109}

5. Alexis 2: years older than his sister Jenna.
How old is Jenna if Alex is 5 years old?

5 .92
5T - 13
_é?, -20 —'i-s- - _‘*2. s .‘LS—
L A 1 e !
a 31 years C. 8— years
18 18
B. 3— years D 8i ears
18 18 7

6. There are 20% cups of dog food in a storage
bin. If Kayla's dog eats 2-;- cups of food each
day, how many full days will the food last?

C. {57.79,113} b2 . 5 . bz 2
D. {49,97, 129} 3 ' =2 3 s

2. The parlial prime factorization of the number A. 7days - _l_’Z_‘L
1,008 is given below. Complete the ‘ 8 days
factorization by writing the missing numbers
. C. 9days
in the boxes.

D. 10days
o 4
3 . 2 . —] 7. Evaluate the expression below.
11.28(1.875)

3. Which statement is true about the greatest 1.2.8
common factor (GCF) and least common x1.875
multiple (LCM) of the numbers 12 and 20? -——m"

&k =4 LM =00 A. 19.45 189L 0
A. The GCFis 32 more than the LCM. B. 1985 Q9024 g g
B. The LCM is 32 more than the GCF. C. 2095 11280

. N . l 5 o) 0o O
C. The GCFis 56 more than the LCM. 2115
The LCM is 56 more than the GCF.
8. Evaluate the expression below.
4. Kingston has two pieces of fabric. One is 56

inches wide and the other is 94 inches wide. 132
He wants to cut both pieces of fabric into 48
strips of equal width that are as wide as ) 1.
possible. How wide should he cut the strips? 4g [—__lB—

S = 2+22.7 ‘3012:’

A. 2inches W=222223 27.5 e
B. 4inches B. 285 -330
(© sinches GLF=22-2 =3 C. 308 — Zuo

D. 12inches D. 325 '_2—_,‘1_2_
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9. The total cost for 1.4 pounds of strawberries
was $3.71. Find the cost per pound.

2.5
%’%l 14 [z10
28
-84
A $235 10
B. $245 '12
C. $2.55

$2.65

13. Given the five integers below, which two
integers would have the smallest product?

-7, 4, -2, 9

-7and 9

B. 4and-2
C. -2and-7
D. 9and-2

10. Mara wrote down an integer. The opposite
of Mara'’s integer is between 20 and 30.
Which statement about Mara’s integer
must be true?

A. Itisless than -35.

B. It has an absolute value of 10.
@ It is less than -10.

D. |Itis greaterthan -10.

14. A shark swimming 250 feet below the
surface of the water rises 78 feet to eat a
fish, then swims down 95 feet. Which value
represents the location of the shark relative
to the surface of the water?

~260 + 18 4 (-95)

A. -77 feet =172 +(-95)
B. -233feet -2
@ -267 feet

D. -423feet

11. Which list shows temperatures in order from
coldest to warmest?

A. {-15°F, 12°F,-8°F, O °F}
B. {0°F, -8°F, 12°F, -15°F}
C. {-8°F, -15°F,0°F, 12°F}
D. {-15°F,-8°F,0°F, 12°F}

15. Which point can be represented by the
ordered pair (-1, 3)?

A

6

T
]

° 0 =)

O O 5w o

b
O

12. Which expressions are equivalent to -4?
Check all that apply.

16. Which of the following must be true for the
ordered pair (a, b) to be in the second

quadrant?
(."’1“')
A. a>0andb>0
B. a<0andb<O
C. a>0ondb<0

a<0andb>0
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Math 6 Review: Packet #2

1.13-13-13-13:13:13:13-13

128

2.(-8)(-8)-(-8)(-8)-(-8)  (-g)°

3. (~2)-7-15-(=2)-7-(<2)- (-2)- 7 (-7_)".1345

4. XX Y- XY X-X-X-"Y-Y-y-X x’gs

Write each number as a power of 10.

5. 10,000 it . 100,000,000,000 16"
Evaluate.
7. 4 8. 19? 9.7
4.4-4- 4 19-19 1.1.7
b-1b 49 .1
bl
250 8 343
10. (-14)? 1. (-3)° 12. (-5)*-(-2)°
C14)(=14) (-3)(-3)-3(-3)(~3 (-5 -5)(-2Y(-2)(-2)
70 | q9.9.(-3) 25 - 4 - (-2
— (-2) =[-243 , loo (-2) =[-2p0
Indicate whether the number if a perfect square. If yes, rewrite as a number squared.
13. 36 14. 196 15. 180 16. 289
Yes; o® Yes; 142 No Yes; 2

Simplify each expression.

1. 6(—4)+2(9)
24 +18

-b

2.20-3-4
20-3-1b

20 - 4¢

23]
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4. 8.(5-2°)-28+(-4) g 3 -4 6. 11_5.2
3'(5—8)-28—':(-'4) -11+6 12 f 10 5
L -1 —%—‘3— - 8, ﬂ_
3-(-3) - 28 5(H) 3t 2 % w,
24 - (-D -5 23 3 .3
12
"'2."' "'—) _(_'i = —|3 23 :- 311
-1 5 L= 2 E izt
= l—d;
Evaluate each expression using the given variable replacements.
1. 4p-17 (fp=-3)|2. 8c-3d (ifc=2,d=-4) |3.,°-9y (if y=-7)
H(-3) -1 (2 -3(-4) -D*-al-D
~12-17 o - (-12) 49 - (-3)
(Lo H9 + 3
-l L2 ]
] 28 ,
4 —Uﬁ_g ('fa=§,b=%) 5.7y—+]x (fx=-2y=-4) |6 mn-n®+2m (fm=8, n=4)
X — } 3;
TN 764 + (-2) 2 (4) -7+ 2(8)
‘5(@- :.";(Z';) — 204) - by *2.(¢)
L v y 32 - Y = 2(8)
2712 Tz iz 28t e 32 -32(8)
-5 "3 32-256 = ~224]
2

Translate into an algebraic expression using a variable.

1. *16 subtracted from a number” 2. "the product of a number and -9"
n-lk -an

3. "twice a number, increased by 7" 4. “the sum 3Lone—third of a number and 4"
7N+ 3 h 4
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5. "the quotient of 48 and a number"
48
n

6. "8 less than the product of a number and 3"

an-%

7. Naomi ran arace 7 seconds faster than her
friend Jenny. If Jenny ran the racein s
seconds, write an expression for Naomi's time.

§-71

8. Antonio bought x pounds of apples and y
pounds of bananas. If apples cost $1.30 per
pound and bananas cost $0.50 per pound,
write an expression for the total cost.

L30x+'u5DY

Identify the variable terms, coefficients, and constants of each expression.

Expression Variable Terms Coefficients Constant Terms
1. 20-3k+7k-9-k ‘3\<|1Ks ..\4 ..3)-|) - 2_0‘ —q
2. -11-4a+3b-5+a-12b —L}a'%b'a‘_‘lb —l-}‘gll'-lz. "“/ JS

Simplify each expression by combining like terms.

3. 1lx-9+3x 4, -7-3r+5r-12+r 5. 9c+14d -2d + 4c
4% -9 3r-19 -5¢+124
Simplify each expression using the distributive property.
6. 3(8+11) 7. -7(8-2) 8. 9(k+3) _
24 +33 =57 “S6 +14 =|-42 'QU 27
9. 3(2r-7s) 10. -5(2v+1) 1 S (28¢ +8)
"4
- -0y -5 |
- 2is. | -10v-5 Geiw

Simplify each expression completely.

12. 20+ 4(2m - 1)
Z0 4 8w -4

‘3"“*’9‘

13. -3(1-4k)+1k%
-3412k +1lk

14, %(6x—30)—x+2

——
-

72X -lo - X +2

%-8 |

15. —2(a-b)+5(3a—b)
-200+2b+ 154 -5b

Péa—ab
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Factor each expression using a GCF.
16. 70+28 17. 16-104 18. 6+42
H(5+2) 7 (2-13) L(1+D)
19. 4x+24 20. 18w-81 21. 48a+20b
H(X+0) 1% (W-5) 4 (120 + 5b)
Write three expressions that are equivalent to the given expression.
22. 12n+54 23. -4(2p+5q)
. (249 . —8\0«200},
. _3(4n+1g) . _-2(Hp +10g))
. _An+3n +L0-0 . ~lolp+24) +2p

Name the property that justifies each statement.

(Property names are given below.)

1. 4.(9-2)=(4--9)-2

ASSoU ative qu)cth of
Mwlﬁpuca,ﬁ 'a

2, 24c+9=3(8c+3)

Distrbutive PV’DPC"‘"\/

3. 18+(-18)=0

v, ev-
erse Prog ﬁijdi%in

4. 13+(—4)=(4)+13

Commutatve Proper
ot Addifion pery

5 5
24022
5 5t0=3%

6. (2a+b)+5¢c=2a+(b+5c)

9. 18+(2-4b) =18+ (4b-2)

Commutative PVDPCM
Ml pliativ

ldentity  Property ASsocioAive Prop
of Addition of /’calaliﬁonorhl
7. 0=(c-4d)-0 8. (-8r)-1=-8r "
Mulfiplcation Property ldenhdy  Property
P O% Zf//om ! Mwlﬁ?umﬁon

2 9
10.5-2=1 Inverge Pro ey
ot Mmlﬁpumﬁon

M. 7(v-0)=7v-7

Distbutve  Propesty

12, -3k+3k=0

Inerse Property of
Addh&onw

Commutative Property of Addition
Commutative Property of Multiplication
Associative Property of Addition
Associative Property of Multiplication
Distributive Property

Identity Property of Addition
Identity Property of Multiplication
Inverse Property of Addition
Inverse Property of Multiplication
Multiplication Property of Zero
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MWath 6 Leieny
QUIZ 2

Name:

Date: Per:

1. Which of the following expressions is
equivalent to 37.82?

A. (3:7)-(8-2)

B. 7.7.7.8.8
3:3-3-3:3:3:3-8-8

D. 3.3.3-3:3-3-3:16

5. What operation should be performed first in
order to simplify the expression below?

60 — 5(12 + 4)?

A. subtract 5 from 60
B. multiply 5§ and 12
(©) divide 12 by 4

D. square 4

2. Of the list of values below, what is the
sum of the largest valve and smallest value?

3°,12%, 6%, &4°
24%, 144, 216, 250

e d

6. Find the value of the expression below.

4+2°.8
3-1
4438
-3-[
A, -26
7 H 04
C. .13 Lﬁ
D. -34 § - .
Y ]

3. Write a number in the box that makes the
statement true,

10°H ~1,000,000,000

7. Find the value of the expression below if
a=-5and b =8.

a’—ab+2b
(-5)2-(-5)(%) +2(8)
25-(~H0) + b
A 12 _
B. 31 LS +ib
7l

C. 36
81

4. What is the greatest perfect square between
250 and 300?

8. Find the value of the expression below if x = 2.

7.8,
6 9
:‘-v ".ﬁg o—l"
L 9 2 ’
a.- = 2.3 -8
s L i' 8 1€ g
A 5 © %
11 7
B. — L
% D. 18
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9. Which expression represents 7 less than the
quotient of a number n and 37

13. Write the expression below in factored form
by writing the values in the boxes.

78-30=|

10. Which statement about the expression below
is true when it is written in simplest form?

8k~-4-6+3k

\k-10

A. 11isaconstant

-10is a constant

C. -2is acoefficient
D. 5is a coefficient

14. Which of the following is equivalent to the
factored form of the expression below?

16m + 40

A 8-2m+8-5
B. 4-4m+10-4

4 @ 8(2m + 5)

D. 4(4m+10)

11. Simplify the exbression below. Write your
answer in the box.

-7(2y + 5)

14y -25

15. Which statement can be justified by the
commutative property of multiplication?

A. 148+5)=14-8+14-5
B. (2:7)+8=8+(2:7)
@ 6(4x +y) = (4x + y)6

D. (2p-3q)-7r=2p-(3q-7r)

12. Which of the following represents the
expression below in simplest form?

7(c—2d)—4d +3c¢
c-1Hd - 4d 43¢,

lOc—18d loc-184d
B

10c - 9d
C. 4c-18d
D. 4c-9d

16. Which property is illustrated by the statement

below?
2 3 23
(5'5)”'(&'5)

A. Inverse Property of Multiplication

B. Multiplicative Property of Zero

C. Inverse Property of Addition
Identity Property of Addition
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Name:

Math 6 Review: Packet #3

Solve each equation. Check all solutions.

1. x+7=23 Wwt1=23 2. ::1_2_=_%13 427 L{-1) 3. y;55=—8 -3-G=-g
-1 -1 a3V | b pzeav]| 2 15 -g: 8V
%=1b)| kidd 1
- =m—(- =-
(4.)_i4=-6 - (-4) ..Z‘i:-b 5.17- :“:‘19) 1= -2-(-9) |6 B _7_2_ -g(a)=-12
= 4 -9 -9 1=-249 2 2=
=24 sV ‘ 1=V C=9
|-z=m |
7. r+(-4)=11 14 3.2 9. 32.1=47+v
r..l-‘:” lg'l’("'l):" 8. ]—Z —28‘,‘4 T_ > 28 -l-‘.’l —“'4-’
. 111% =1
+4 44 \ k::So"L 228V \7_‘7.4:\/
lr=l5|
32. =4.71+274
32.1 232,V
1 13 Lelo13 7_5 S(, % 5 .7
10. X+Z=']—5- "y *b is 1" lg—zm I%’G(Z‘S] 1 0—5—26
XeS .20 281y .5 v B3V ,.s.21 .5
30 30 15 1S —5— q "T:W"s .’_i. c 12 =2 D e
-5 =5 e= 9
30 ad = _9
3_2_'. = 8 E- - e
X =2l -1 5 " 3+ %
s |X — e 13 -
21gM 2%

v

Translate each sentence into an equation. Do not

solve.

13. “The sum of 9 and a number is -4"

14. "The quotient of a numberand 7 is-12."

n
Ath = 4 T =-12
15. “The product of a number and -3 is -42." 16. "8 less than a number is 34."
Bn=-42 N-g=34
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Step E9

uahon Word Problem “

Use a vanable fo write aone- step equahon to solve the problem. Then soIve

1. Alarge bag of lollipops were equally
distributed into 28 smaller bags. If each bag
contains 6 lollipops, how many total lollipops

2. Julia is buying a watch for $105. If she is using
a gift card that has a remaining balance of
$28.43, how much will she have remaining to

are there? %= lollipops pay? X= pryment
2922 (.28 X+ 28.43 = 0§
8 ~2g.43 -28.43
X =168 X=76.5871
Equation solution Equation Solution
'2x§ b 1B lollipops | X t28.43 =08 ¥7L-57

3. Devin's paycheck was $179 less this week
than his paycheck last week. If he made
$348 this week, how much did he make last

4. Cheryl has been teaching for 18 years. If this
is two-thirds the number of years that Tom has
been teaching, how long has Tom been

week? Xz lagh weeks pay teaching? %= Tom's
,,. = +eachi
X-179 = 349 ;,_' X =18 chs
+H1q 119
X =521 X=27
Equation Solution Equation Solution
- 2.
X-119 =348 $ 527 3 X=18 21 years
e Topic«c _Representing: lnequclmes &
Wrﬂe an inequallty io represent the graph.
1. € i———— 2, Cmfrm——————-> -
1 2 3 4 5 6 7 nz3 A3 212 211 210 9 8 7 n<-3
S T 5 %6 17 s n?> 14 4. < 23 22 -2 .% Jo a8 4 N£-20
Write each sentence as an inequality, then graph.
Verbal Description Inequality
. & —0
5. "A number is less than 12." n |2 <« t t t t t —>
Q o 12 13 1t I
o— ?
6. "A number is at least -5." nz-5 <« : : —t —t—>
- 8 -1 b -5 4 -2 .2
£ —e
7. "A numberis a maximum of 9.” n <9 <« } t t } 4 —>
- b 1 % 9 o n iz




8. “-2is more than a number"”

n<-2

A 4

9. “The number of points scored in
each game was no less than 16.”

nziv

\ 4

¢ D: Solving Qne-Step Inequalifies

Solve and graph the solution to each inequality.

1. w=42>5 2. 7¢>-28 -3‘17 ' -
i T g
[¢>-4]
*r——— o0— —@

I I [ I [l ] J I
T T T T T ] v »

12 13 14 15 le 17 18

A 1 3 I 3 1 ] 1
<

. =/p<l4

-7 -1

1 L L 1 L 1 [ N

LI ¥ LI L) Ll ] LS

-1 -3 =12 -10 -9 -8

-if <lo1 815

] ] L) L) T >

s 4 -3 -2~ 0 |

7. y—(-6) 213

\, +b 213
b -b

S

[127]

. 1.8r < 45

(K]

r<2€l

N
|
—

)
)

o

N
v
v oo

Ulf:, cln

+

W ajw "‘l‘” w

cla
o\
()

[l d
(1]
W
)

H 6 L 18 910

22 23

2 28 26 21 2%

Determine whether the given value is a solution to the inequality,

10. x<-9;x=-13

-134-9 E

11.n>-8 n=-25
-25>-%

20 " 20

0, s .—ﬂj
S
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18. k+9<4 k=-5 14. 7.52 z-3.89; z=11.088 r o o
15. —<-9;r=10
-5+9 ¢y 1.6211.088 -3.89 -5
Y4ey 7.5 27.198 10 . _q
| -s
tho yes | -24-9 no

Write each sentence as an inequality. Do not solve.

16. “The difference of a number and 7 is greater
than 20."

n-1 220

17. “15 more than a number is at most -4."

ntis -4

18. “-42is less than or equal to the product of a

19. "A number divided by 5 has a minimum

-6 and a number." value of 14."
- ‘L -~ 4
42 2 -bn = 214

' "?f"One-Sfep Inequcmy Word Problems -,

Use a variable io write a one- siep inequality to solv

e the problem. Then solve

1. Jack has lost a minimum of 25 pounds in the

2. The cost of a case of water is $3.20. If you

past six months. If his Curvent weight  §s 248, can spend at most $20, how many cases can
what was his starting weight?2 you buy?2 ¢ = Cases of
p-248 228 p= SV:‘; 3.20¢ £20 Waker
1248 +248 J 3.20 3w
P 2 2713 C 4 (.25
Inequality Solution Inequality Solution
p-248 2 25 PZ213 pounds | 3.20¢ 220 Ct6 cases

3. Lana would like to spend at least $15 on each
of her 9 grandchildren for Christmas. How
much money will she need?

9= §ift money

4, Trevor and Cara played in a bowling
tournament. Their goal was a combined
score of 425. If they did not meet their goal
and Trevor scored 232, what was Cara's
score?

q- . 215 .9 O+ 232 Y425
i -232 ~-%32
92 135 C <193
Inequality Solution Inequalily Solution
2 215 9z $z5 C+232 425 | € 2193
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Math 6 Lervieny

A w+(-0)=6
QUIZ 3 B. w+3=2
w
Cc. —=10
Name: 2
@ 1.8w=9
Date: Per:

4. Which equation has a solution of w = 57

1. Solve the equation below. Write your solution
in the box.

m+11=—4
[

——

M= -5

m=|-15

2. What is the solution to the following equation?
y
. 48 =2
8 8 g

3842y

A y=6
B. y=40

L. V=256
y=384

5. The maximum height that Caitlin climbed on
a mountain was /& feet. Once she reached
this point, she descended 150 feet to eat
lunch at a height of 1300 feet. Checkthe
equation in the Column 1 and the solution
in Column 2 that represents A.

6. After 6 people boarded a bus, the bus had
48 people. Which equation can be used to
find », the number of people on the bus
before the 6 people boarded?

A.

C. n=48

n+6=48

3. What is the solution to the equation below?

k—%=l1—96
34+
TEN T
A ]—2% @2% k= 83
B. 12 p. 217 %

7. It costs $1.60 per pound to mail a package.
Find the weight of a package that cost $11.52

to mail. . UF - ”52

A. 6.4 pounds

7.2 pounds

» €. 9.8 pounds
D. 12.6 pounds
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8. Which graphs represents all numbers that are
a minimum of 4?

A ———————t>
2 3 4 5 6 7 8 9
B. <+ttt Omiieimd>
2 3 4 5 6 7 8 9
C. priie——+—1>
2 3 4 5 6 7 8 9
<::.:o:::>
2 3 4 5 6 7 8 9

12. Which represents the solution to the
inequality below?

a-(-8)22
0t8z2
A. a=-10 -2 -2
- %
B. a210 5
C. a2-4 a"“‘o

az-6

9. Which inequality could represent the set of
numbers, n, shown on the graph below?

e ———————————>
6 5 -4 3 2 1 0 1
-2Zn
B. -2<n
C.-2>n
D. -2<n

13. The high temperature yesterday was more
than 10° degrees below normal. If the
normal temperature high temperature for
that day is 65°, which inequality represents
t, yesterday’s high temperature?

A. 1£55°
B. r255°

©z<55°

D. 1> 55°

10. Given p > -7, in which list is each number a
possible value of p?

A {-7,-2,0}

. {-4,-1,3}

C. {-17.-11,-9}
D. {-20,-13, -7}

14. Greg burns 8 calories per minute running.
If he wants to burn more than 100 calories
running at the same rate, which inequality
represents the possible values for m, the
number of minutes Greg will need to run?

¢m? 100
Am>12.5
B. m<12.5
C. m>038
D. m<0.8

11. Which number line represents the solution to
-2x > -67

A. ————————p—j—j—j—(—

4 6 8 10 12 14 16 18
B. ST 38 002 141618
C. NI e e

15. Mia has $700 in her checking account. She
wants to use part of this money to purchase
a new laptop. If she wants to have at least
$250 in her account after purchasing the
laptop, which inequality represents s, the
amount of money she can spend?

A. s<$950

s < $450
C. 523950
D. s2$450
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Name:

Math 6 Review: Packet #4

1. A'stoB's 2. B's to total grades 3. C'stoB's
A|HHHN |12, 3 . g L 4 _ L.
J —_ = -z
B| Ml || * % M 3 8
cl 32, 3.2 [ 035 1231+ 2 1:Z
List two equivalent ratios for each ratio.
. 18 G Zz
. 8 . : 5 — — =
4. 83 249 , 80:3D Y s 0 =z
Fill in a box with a value that makes the ratios equivalent.
45 15 24 8
6. 7:3and|zg 112 |7 — and — — and —
36 12 5y 18
Determine whether the ratios are equivalent.
42 6 10. 4109; 161036 5 15
9. = = . — —
%% and 5 o 10 2 and 43
TR 4 +o 9
3 3 yes S | No l
o 4 m v
12. To create a certain color, Mari mixes 3 drops | 13. There are 56 girls and 32 boys in band. The
of blue food coloring for every 5 drops of red ratio of girls to boys that play clarinet in the
food coloring. If she uses 18 drops of blue band is the same as the ratio of girls to boys
food coloring, how many drops of red does in the entire band. If there are 7 girls that
she need? play clarinet, how many boys play clarinet?
3 _ 18 | 5S¢ - 1 4 o, |
5 - 7 30 d "335 2 2 \ oys
) of re

Complete each ratio

S

table.

1. 2. 3.
:ﬁ;i;es Rtes:s Sugar (isp) | Calories Tickets Cost (9)
5 8 1 I 1 7.50
10 16 5 80 2 15
25 140 12 Q2 6 yg
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4. Jeremy is a car salesman. Last year, he sold two trucks
for every three cars he sold. Create a ratio table and
graph to show this relationship. e
10
¥
Trucks Z Y b g
AU 1
Cars 3 (o \Z o’
< 4
1
2

Wirite each rate as a unit rate.

1. 172 miles in 4 hours

Mz

———

L‘ = 43 m"/hf'

2. 15 grams of fat in 6 cookies

1S

—
-

o Z.5 g/ cookie

3. 336 points in 16 games

3306

= C 22.4 gt/ game

4. If it took 27 minutes to fill a 432-gallon hot tub,
find the number of gallons per minute.

5. The table below gives the amount of time, in
minutes, it took three people to run a certain
distance. Who ran the least minutes per mile?

2 .
3 = b gad / min Miles | Minutes
Z7 Molly 8 52 | 6.Smin/nli
Nathan 5 36 1-Z min/mi
Darell 12 72 bmin/mi

Davneit]

Determine if Option A or Option B is the better deal. Justify your answer using unit prices.

6.

EI/ Option A: $11 for 5 books

O Option B: $30 for 12 books

Unit Price: ¥2.20 /oo k

Unit Price:

$ 2.5/ book

O Option A: 28 ounces of orange juice for $3.92

t!( Option B: 40 ounces of orange juice for $4.80

Unit Price

Unit Price:

: $o.14 l bunté

$o0.12 ] ounce
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AR

3,

Determine whether the qucmﬂtieséhown in each table or giaph réprésenfo rdsﬂlonal
relationship. If yes, give the constant of proportionality, 4.
1. 2. 3.
Time (h) | Earnings ($) Time (s) | Distance (ft) Boys Girls
2 28 S 16 2 8
3 42 10 32 5 20
5 70 15 48 12 42
9 126 20 64 16 52
yes; k=14 yes;, K=a.2 No
4‘ 20“ 5. 10 A
o
v l g ° |
2 12 —{— 2 .
S Py ~ €S K: —]
2 s * NO é 4 \l ) 3
; § .
- 4 T 2 Y
L S T X
2 4 & 8 10 2 4 6 8 10
Time (m) Water (0z)

Complete the chart below.
FRACTION DECIMAL PERCENT
7
9
2 5 |8 136 %
]
8. 8 0.125 12.57,
5 — —
4. 12 0.416 H1.C %
13
5 S 0.325 32.5 7°
3 2) 2.1
Z 2107,
39
7 _5_0_ 0.78 13 7.
7
8. ?’ o . 8—) { 87.5%
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FRACTION DECIMAL PERCENT
27
9. —26_ 1.5 135%
(
10. 4%
25 ©.0H4

Compare by placing a <, >, or = symbol in the circle.

1. 120% @ 0.975

.2

13
2. ;2 @8%

o.bs  0-0% o.12 0.125
1 17 5 7
. 130% = . — - . —
4 % @ 3 5 20 6 6. 9% @ 40
(.3 1.3 _
0.8  0.83 0.09 ©.175
7. Order from least to greatest: 8. Order from greatest to least:
2 3 2 7
5 30%, 1.2, 3 3’ 8%, 0’ 0.65
04 ,0.3, 1.2, 0.375 0.6’0.08,0.",0-(05'
® 0 ® & ® & o0 O

Find the percent of each number.

1. 70% of 60 2. 35% of 140
LO 140
X0.7 X0-35S
4 2.6 100
4200
|t~z
9.0 0

3. 4% of 275
2715
X0.04
| .00

]
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4. 56% of 95 5. 180% of 15 8. 325% of 40
95 13 3.25
©
x.5% x1.8 x 40
5 ; % )20 O DD
5§3.2 0 7.0 S
[53.2] (27] 1300 [130]
7. Chelsea answers customer service calls fora | 8. There are 180 days in a school year. If your
company for $14.50 per hour. The company teacher says you have completed 65% of the
is offering her a new position that pays 120% school year, how many days do you have left
more per hour than her previous position. If of school?
she accepts, what will be her new pay? 130 1 8a°
=117
I4.50 X 0.6S L
x 1.2 ——— L3
q00
Z 900 |68 00
| 4 500 J
1M DO i 11.00 (IBda-jS

e

Give each absolute value.

2 z 6
.= — . |-3.45 . [-1= L . 10.194
1 9‘ 5 2. |-345  3.4% 3‘ 7‘ 1% 4. 10194  o.19¢
Compare by placing a <, >, or = symbol in the circle.
5. -2 (5)-1 6 12 @ 3 7. —7.918@ 7,04
8 16 6 4
~0.b25 - 0.875 -1.%3 -1.1¢%

8. Order from least to greatest:
0,098, -%. ~0.12

&

-0.25

9. Order from greatest to least:

Fl‘g‘éi -,—;.J",.Q
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Wathy 6 Lertiems
QUIZ 4

Name:

Date: Per:

1. Which ratio represents the number of vowels
to total letters in the word JACKSONVILLE?

1104 Vi Y
.1103 Totad =12
. 1to02
D. 2103

$. Printer A took 8 minutes to print a 92-page
document. Printer B took 5 minutes to print a
60-page document. Which statement is true?

A: % = .S @/m]n

+ O _ .
B: £ =12 pg/min
A. Printer A prints more pages per minute
Printer B prints more pages per minute.

C. Printer A and Printer B print the same
number of pages per minute.,

2. Write a number in the box below to create
equivalent ratios.

7:1 4

and 56:32

3. The ratio of cats to dogs at a pet shelter is
4to 3. If there are 36 dogs, how many cats

are there?
3 =

A. 27 36
B. 36
©)4e
D. 52

6. The prices of four bottles of shampoo are
shown below. Which bottle costs the least
per ounce?

Size (oz)| Price
A 10 57 |¥0.1 oz
B 15 $9 |So.b)o2
c 16 $12 |$psfoz
D 25 $18 |¥p.12)02
A. Botfle A C. BotileC
Bottle B D. Boitle D

4. A 32-ounce container of apple juice contains
80 grams of sugar. If this information is
organized into the ratio table below, what are
the values of x and y?

Apple Juice (0z)| 1 y 32
Sugar (g) X 10 80
A x=2,y=4 (©)x=25y=4
B. x=2,y=8 D. x=25,y=8

7. In which table is the relationship between
labor hours and cost proportional?

Labor Hours 1 3 5
Cost (S) 75 225 375

B Labor Hours 1 2 3
| cost($) 60 60 60

c Labor Hours 1 4 8
" cost($) 50 | 240 | 560

Labor Hours 1 2 3

D.

Cost (S) 80 150 240
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8. The math club is selling boxes of cookies for a
fundraiser. The graph below shows their profit
on each box sold. What is their profit per box?

isf s%o"%cs
20
& 15 A. $0.80
5 B. $1.10
& 10 © s$1.25
s D. $1.50

4 8 12 16 2
Boxes of Cookies

12. What is 4% of 80? Write your answer in
the box.

Y0
x.04

et

320

3.2

9. Ruby spent 28% of her paycheck paying
bills. What fraction of her paycheck is left?

1-0.28 = 0.2

13 iy
50 C 2

37 14
B. — LA
50 @ 25

13. Ben’s cell phone bill is typically $150.
This month, it was 120% his typical bill.
What is Ben's cell phone bill this month?

|So
A. $30 3
B. $80 |5 00
© s180 1€ 0.0
D. $200

10. Of the 320 sixth grade students, 192 buy
their lunch each day. What percent buy
their lunch?

Az Lo
A. 40% 520
60%
C. 65%
D. 70%

11. Four students are reading the same book.
The table below gives the portion of the book
that each has read so far. Which student
has read the most?

Ryan lena Evelyn Grady
13 5
— A 7 =
o 8% 0 3
ovs 0.08% 0.b2S
A. Ryan
B. Zena
@ Evelyn
D. Grady

14. A waiter earned a 16% tip on a $45 dinner
bill. How much was the waiter's tip?

Hs
X.lb
210
$7.20 450
B. $7.50 "‘:,‘.}_"'5'
C. $7.80
D. $8.20

15. Which list gives the numbers in order
from least value to greatest value?

1 9
-2-,-2.085, -2—, -2.716
A. { 4 085 10 2 }

9 1
-2.716,-2—,-2.085, -2—
B- { 2 10 4}

1 9
-2.085,~2—,-2716,-2—
C. { 2.085 2 IO}

9 1
-2—,-2716,-2—,-2.085
® {22716 -2, 2088
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Name: Math é Review: Packet #5

Topigg@m uent Segments, Angles; & Polygons

1. If the flgufe;bélbw are congruent, list all congruent sides and angles and plocé markings on ihe »

figures to show the relationships.

P Sides Angles
PR 2= FE <P 2 <¢F
; gQ = ED 4R <E
R f@ ¥ FD <Q % <D
Determine whether the figures are congruent.
2. @ ) /Q\\ i H 10T
" i .| i I } Im
@ v @ No
5. The figures below are congruent. Use the figures — __
below to answer each part. a) What side corresponds to CD ¢ Ra
Q
B ?n c b) What is the length of ST 2 Q_H
81" 157 14 ft S
8 ft s ¢) What angle corresponds to ZB ¢ ?l°
32°
D
4 8 > d) What is the measure of ZR2  1§7°

Toplc B: Perimeter, ond Areo of Rectangles, Porcllelogroms, Triangles, & Trcupezonds

Find the pcrnme+cr' oF each figure-

1. T ) - -3- -
f=4(9.2) . q ., f720#) (s )
1 1 . 2=in
0, O !’ 36-8 wu 8 =43
' 3.
9.2 mi 5z|n [ b# J
Find the area of each figure.
= H 12.4 ft s.
E @
o 5% an / 14 yd
- 12.4 ft
37m 373
A=3.1(59 = 12.4(4.4) )
=21.83m T 54.56 4% A;-;(gmfdz
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1Min 13in

19.6in

|

14in

A= Jz' U"D(q_'(l)

7.

23¢cm
10cm\
/8cm

18cm

A= 3 (23)(8)

1= 82em*

8. 13m

I_i

34m
A= % (18) (13+34)
= (1)
‘= 423 m”’

9. Abby is covering a

with shelving liner. The dimensions of the shelf
are given below. What is the minimum
amount of liner she will need?

Rin 16in

28in

corner shelf in her kitchen

A= % (1L)(23)

E 134 in?

10. Gino is painting a wall in his living room. The

dimensions of the wall are given below. Find
the area of the wall that he will cover.

9 ft

15.6 ft

A= 3 () (q+1k)

168} =[IS£4*

Graph ihe flgure wlih the glven verﬁces then find its perimeter and area.

1. J(-5. 1), K(2, 1), L(2, -6), M(-5, -6) 2. E(-1,7). F(3.7). G@3. -2), H(-1,-2)
i =40 A p= 2¢4) + 2(4)
= 28 , = €+1%
- = | 2 jEY ‘Z}g
< - A A : -I < A
A= 4(4)
1 .
] 23l
ﬁ
] [
A 4 v
Graph the figure with the given verttices, then find its area.
3. R(-5. 4), (8, 1), T(-5, -4) 4. A(-7, 3), B(0, 3), C(3, -7), D(-4, -7)
A A
® A =% (%) (13) A =1(19)
. - \:’ s - 52 \\ \
L]
1 \
Y \ 4 e
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e

Find the area of each figure.

oot A= 3R)(8)
= £(3))
19 ft = Ho.s
1" -
_ A, = 14(1) 14in
71 = (33 A = 5C16) =50
ul = [l
1o A llr()+2§z P S(10) S0
A=40.5 +133 “KS m A= 2(BlowH) = qp
= 13.5 £43 A=sot+50+ Qi =| (AbinY
4, A - - 5 A ]
= g(4) =32 :
: A,z 50D A= 2(V)(5112)
DL 42 2@ =3¢ =3() =5
'- = I i A= 5(2) 210
< L= > A=232+30 < 1 b
=08
A=5(+]0
l: G li
wo.i U Tople B Circumference & AreaofCircles s
Find ihe circumference of each circle. Use 3.14 for pi.
1. 2.
C=2T38 C= 277 3.
= 10 (344) =74 (3.44)
= 650.24 ¢
\- Hem (=23.23¢ in
| fo-72r
y=9
Find the area of each circle. Use 3.14 for pi.
* A =TS 4'/\ A =T(3.5>*
= 25(3.4) 17 =12.25 (3.14
=1g.5m? U = 226. 3LS &
| e ]
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5. Barry has a circular table with an 7-foot
diameter. If he would like to cover the table
with newspaper for an art project, what is the
minimum amount of paper he will need?

r=3.5 A= T(3.5)
= 12.25(3419)

\139.405 £r2

6. Rachel has a circular pen for her chickens
with a radius of 15 feet. If she needs to
replace the fencing, how much fencing will
she need?

(= 215
Z30(3.14)

.. TopicF: Surface Area of Prisms & Pyramids =~

Find the surface area of each figure using the given net.

7 yd

SA =49 + 4(31.1)
| =104 yd®

1. 2,
N __________________g\ 5cm 13¢cm SA = 45+ 30 "P 'og
7 ir% ~J1sin QA= 44 206+ | Ll +30+1D)
12i 9 - 2
|2_In 94" 2.l + em \d 12 em \-- 330 cm
1Z.b+ 2.0
=g 1 - .
A= 2364 in* NS
........................ 30 '3
A= 2.0 19 L
A® | A= A=z 1\
3 p=o A s | A=108
§ & o
A>2.b
12
3. 4. Assume an equilateral base.
10.6 yd 6.5 km 78km
7 yd 9 km

SA = 35.1 + 3(29.25)
F l22.85‘\<m"\
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5. A bar of soapis in the shape of a rectangular
prism with the dimensions given below. The
manufacturing company needs to know the
minimum amount of material needed to
construct a box for the soap.

6. Kevin is planning to build a jumping box to
use with his daily workouts. The dimensions of
the box he wants to build are given below.
What is the minimum amount of plywood he

will need? 32
2.5
A=1 2 A-,“.: 2"'
hoin - EREss s | A‘os .
3.5in zn A= 2 . =40
A=5.25 1.5 = 20in A
_ ne |
SA = 2(3) +2(T) + 2(5.28) SA ~f§'&8§o§ 2(Y40) _
= in% A= 80 | Aabso | A2
s0.8n \ = 38170 in® i ) ‘i?z';

poic Gy Volume of. Rectangular | Pnsms

Find the volume of each recicmgulclr prism.

1. 2. 3
PN Lerm L]
15¢cm 82m o
12cm 214
9 cm V= 6(R.2)(27)
- - _L é‘
V= 1209)(1S) E’ 132. 94 mi} V= (z-g)(lz)(zq)
[=1v20 om3| =%_( ')
7 =[ag e
4. e

An inground pool is in the shape of a
rectangular prism. The poolis 18 feet long by
12 feet wide with a depth of 5 feet. What is

the maximum amount of water the pool can
hold?

V=181 ()
1080 43

s

5. The bed of dump truck in the shape of a

rectangular prism is completely filled (but not
overfilled) with 567 cubic feet of dirt. If the

bed is 18 feet long by 7 feet wide, how deep
is the bed2

V= £-w.A
6567 = 19(1) (h)
571> 2L K
4s = h

(45 Jeet.
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Matly 6 Reniews

QUIZ 5

Name:

Date: Per:

1. If the two figures below are congruent,
complete the statement below.

B C

AB =| QR

4. Find the area of the figure below.

19 mm

A=14(4)

= Pmm

e . e w—

7 mm

25 mm

A= (2D ()
A 2325mm2 = %4
B. 242 mm?
(©) 255 mm?
D. 258.5 mm?

2. Lance is enclosing a rectangular garden with
fencing. If the perimeter of the garden is
30 meters, check the two measurements that
could represent the dimensions of the garden.

5. Find the area of the figure below.
A

| *[ =1 square mile

A, = 2(3)(149)

> =24
A2 =5(7)
=35
A 4
A. 55mi2
59 mi2
C. 62mi?
D. 67 mi?

3. Find the area of the figure below.

A=3OX s HY)
2 (S

14 ft

\ A=1(S)

' A:s{ 5ft

' [

18 ft
A. 108 fi2 @121 52
B. 114.5f2 D. 132 ft2

6. Using the graph below, find the area of a
triangle formed by the points (-2, 0), (6, 8),
and (6, -5).

A

A= %U?’y °

1

C. 39 square units

52 square units

A. 56 square units
B. 48 square units
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7. The minute-hand on a large clock is 18 inches
long. Which is closest to the distance the tip of
the hand will travel in one rotation?

C= 2118
= 30(3.14)
= 113.04

A. 56.52inches
B. 74.68 inches

@ 113.04 inches

. 128.36 inches

8. A circularrug has a diameter of 7 feet. Which
is closest to the amount of fabric used to

make the rug? r=3¢5
A=T(3.5)*
=(2.25 (3.14)
38.5 fi2 = 38408
B. 51.2f#
C. 104.1 ft2
D. 153.9 ff2

10. The net of a square pyramid along with its
dimensions are shown below. What is the
total surface area of the pyramid?

A. 480 cm?
B. 216 cm? A= 4(30) +0L4
C. 200 cm? = 184

184 cm?

9. Arectangular prism and its net are shown
below. What is the total surface area of the

prism?
A%3S
35in ‘ P
. W du
e wlEogih g
h L A I o B
wioow e
Qin < < é <E <
3S|az=as
A. 554in2? q
B. 570in2 A= 2(135).} 20129 )
C. 583in? +2.(31.5)
in2
588|n = 698

11. What is the volume of the rectangular prism
below? Write your answer in the box.

V= 1-2012.8) (2D
21 m 21890
12.5m
72m
1890 m?3

12. A flower box in the shape of a rectangular
prism along with its dimensions are given
below. What is the maximum amount of soil
the box can hold without oveffilling it?

Lt -
= 1L gt
21l ¢ 3
= . 2
V23 (28)18) - 7 (F)D) * =
A. 25 113 c. 23 i
2% fre D. 2% 3
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Name:

Math 6 Review: Packet #6

opic A Measures of. Center & Range -

Find ihe mean, median mode(s) and range for eoch of the following data sets.

1. The high temperature for the past nine days: ] Mean:
{57, 61, 57, 58, 58, 57, 61, 54, 68} Mean: 831 - gg 59
1 Median:
54,581,51,51,5%,58, b1, 6L, L8 58
’F Mode(s):
51
Range:
14
2. The prices, in dollars, of six laptops: {620, 750, 700, 540, 440, 390} Mean:
33L0 560
< Mean: .
’3“0)"“00,52-0,5"}0,-10011 o b Median:
Mfdian = §30 Mode(s):
None
Range:
3,0
3. Marissa's grades on nine tests are given below. Identifier the Identify the Outlier:
outlier, then find the measures with and without the outlier. -
{92, 88, 88, 92, 100, 88, 37, 98, 82} With Outlier Without Outlier
2 gg g Mean: Mean:
31,? 0 | 9 :88,‘]2,672,618,!00 35 ql
Median: Median:
Mean.: Mméan: 123 '
s | gs - al g3 90
Mode(s): Mode(s):
33 88
Range: Range:
03 K1

Determine which measure of center is most appropriate. Explain your reasoning.

4. Weights, in pounds, of 15 dogs: {55, 62, 48, 59, 74, 145, 70, 56, 82, 64,71, 40, 53, 78, 63}

Best Center:_Medidn

whyz JUS S an owptuer

5. Ages of 12 players on a basketball team: {11, 10, 11, 11, 8,11, 12,11, 9, 10, 11, 12}

Best Center:_MDOE whyz __|| YE'OC&*S rmng Tmeés

6. The speed of the last 10 pitches thrown by a pitcher: {90, 92, 85, 88, 94, 86, 93, 90, 88, 95}

Best Center: _MTAN Why? No outlUers
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range of prices of the cameras?

7. All digital cameras in an electronics store are | 8. A football team has scored a different
on sale for 20% off for the weekend. How does number of points in each of their first five
this affect the mean, median, mode, and game. If they score more points in the sixth

AV Valwes will deerease

game than any prior game, how will this
affect the mean, median, mode, and range
number of points per game scored?

The Wiean, median, and
vanage will inCrease. The
Mode  will Ylo‘r Q\mmf

L Topic B:. Dot Plots & Stem-and- Leaf Plots -

The ages of ihe players on a hockey team are shown below.

1. Compare the median and mode ages.
\1Q,2),2),21,21,22,22,23,23,23, 24,24,24,25,25,2,

. ° o
e o e s o o e |Modes2 e median is
B 0 % 2 2 | Median 23 Qreator than e Wode-
Ages (Years) 2. How many players are no more than 24 years old?2
13 players

The time it took a group of students t

o complete a test is shown below.

Minutes
Stem | Leaf
215 8
3|10 4 7 9
411 3 3 5 7
516

[ Key: 2 | 5 = 25 minutes ]

3. Find the mean.
25,28, 30,34,31, 34, Y41, 43, 43, 4%, 41, Sv

Méan = ilfg- = gq

12

4. How many students took more than 30 minutes to

complete the test?
P A Studenss

- Topic C: Mean Absolute Deviation

Find the mean absolute deviation of each set of data.

{62, 65, 68,77,71, 59}
Man = ‘-I()z - b

MAD= S +2+1+I0+ 19 +¢
b

& -]
.

1. The heights, in inches, of six people: 2. The average heart rates, in beats per minute,

of five people in a cycling class:
{145, 168, 156, 134, 162}

Megn = J-s‘fi = |53

MAD = 3+ 1543+ 19119
5

-5
"gi-“-lb.%
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3. Two classes, Class A and Class B, took the same test. Both classes had the same mean score on
the test. However, the mean absolute deviation of Class A was 10 and Class B was 2. What
does this information reveal about the individual scores in each class?

The MAd of Class B is less than that of Class A,
which means Class B had less vaviaton in +heir dat-

" D:, Box-and-Whisker Plots -

i

Draw Ihe box-and whisker ploi ihen give the five-number summary, range, and inferquclrhle range (|QR).

1. The height, in inches, of nine trees at a tree farm: - .
{56, 68, 45, 65, 63, 49, 75, 51, 72} Minimum: _45__

Lower Quartile: _50
45, 4a,51(, 66, b3, 45, bg, 12,5 _
—— 1 ——— Median: _ 3
50 10 Upper Quartile: _ 7 ©
| Maximum: s
<! l ' l L l l I i I N B B s Range: 30
~ 1 ] 1 [} I 1 1 I 1 I | I 1 | I 1 L
Y 4 43 D 62 64 S 68 LD b1 b4 bb b 0 1274 T IQR: _20
2. Points scored by a football team in each of their sixteen games: - o
(17,21, 25, 23,20, 27, 16, 24,17, 14, 21, 28, 23, 30, 14, 27} Minimum: 14
Lower Quartile: __11
4,14, 16,0117, 20, 21,20, 23, 23, 24, 25, 27,27,2¢2, 30 22
— N ~—— Median:
d 22 2 Upper Quartile: _ 2k
A [ . Maximum: _30
<l | ] l 1 ! l l I | i 1 1 | y L Ronge:_l_L
~ 1 ¥ | i 1 1 I ] 1 ! I I I I I | D
Iy o I 20 2 24 % = 30 IR: _ 4

Topic E: Hlstogroms

1. Studenis were osked the numbers of letters in their last name. The results are shown below
Organize the data in a frequency table, then make a histogram to display the data.

{5.8,9.11,9,6,7,5,5,10, 8, 4, 6,

7,11,4,3,8,8,5,10,4,5,8,12} 0
Interval Frequency |
(-3 L I v
q9-b 10 HH ;
1-9 q +H (1]
2
{0~-12 5 +H-

13 Y-6 1-9 10-12
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The histogram below shows the number of hours worked in a single week by each employee at a

company.

2. How many employees worked 30 hours at most?2
30 employces

L+10+1H =

Hours Worked in a Week 3. What percent of the
o employees worked
%’, between 16 and 20 hours?
o
.o- - *
i o lo
E
=3
-4

1620 21-25 26-30 31-35 36-40 |07,
Hours

4. What percent of the
employees worked a
minimum of 26 hours?

Topic F. Circle Graphs

1. A group of students were asked how to get io and from school each day. The resul’rs are shown

in the table below. Make a circle graph to display the data.

Transportation Number
to/from School | of Students g1 . 24 -
Bus 87 s> S0 %
. 3
Bike 18 % Z 3 C I
33,
Car 33 =5 " B0 22%
walk 12 LI
150 26 ~ 31,

Tvars Fov*lwh on

Bus

A new jacket comes in four colors. The circle graph below represents the last 200 jacket orders.

2. How many of the orders were
for a green jacket?

200
w7 | X009
[8.00

Jacket Orders

= reen [ nive I$ ordevs

Purple Red

3. How many of the orders were
for a purple or a red jacket?

200
X 0.b3

—_—

OO

\2000
- ———

|2_lo.00

EEU ovders
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MWath 6 Lerieny
QUIZ 6

Name:

Date: Per:

3. What is the median number of pounds lost?

A 15
B. 16
.17

C
©

4. What is the range? Write your answer in the
box.

1. If 26 is added to the list of numbers below,
which measures will not change? Check all
that apply.

{7, 11, 15,15, 22}

3y -5

29

5. The list below represents the heights, in
inches, of nine books lined up on a shelf.
Which action will cause the median height to
increase but the range of heights to remain
the same?

2. The data below represent the number of
students in 8 classes. Which measure is the
greatest?

{25, 23, 32, 19, 28, 29, 23, 21}
q, &1, 23, 23,25,28, 29, 32

@ mean 25
B. median 24
C. mode 23
D. range 13

{6.7,7.8,8,10,12,14,1¢6}

A. removing the shortest book
B. removing the tallest book

adding another book that is 6 inches tall
D. adding another book that is 16 inches tall

é. Jaxson is a customer service specialist for a
cable company. The data below represents
the length, in minutes, of his last six service

Use for questions 3 and 4: Employees at a
company were invited to participate in
a 3-month-long weight loss challenge.

The stem-and-leaf plot below shows the
number of pounds each participant lost.

Stem | Leaf

0|5 9

1102 255 6829
21001 37
311 4

[Key: 3|4 =234 poundsJ

calls. What is the mean absolute deviation for
this set of data?

{12, 53, 25, 37, 20, 45}

Mtan= 32
20+21+ 1454243
MAD= — o
13
B. 14
C. 15
D. 16
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7. The box-and-whisker plot below represents
the golf scores by a group of golfers. Which
list could represent the individual scores?

O—

i 1 1 ] 1 [ 1 [
I I 1 T 1 I 1

74 76

1 [ [] 1
L) ] 1 1

70 72

«
68
A. {68,70,70,72, 74,74, 78, 80}
B. {68, 70,72, 72,72, 74,76, 80}
C. {68.69,71,72,72,74, 76, 80}
{68, 69.71,71,73,74, 78, 80}

8. The box-and-whisker plot below shows the
number of points scored by a football team in
each game in their 2019 season compared to
their 2020 season. Which measure is the same
for both seasons?

Points Scored Per Game (2019)

—t

8 12 16 20 24 28 32 36 40 44

—t t

Points Scored Per Game (2020)

A. median
B. lower quartile
C. range

interquartile range

10. Mr. Abrams gave a test to his math students.
The histogram below represents the
distribution of scores. What percent of his
students had a score that was at most 80?

se
56 10
8
o 40
(3]
5 32
=]
g 2
16
8
51-60 61-70 71-80  81-90 91-100
Test Scores
A. 30% C. 40%
35% D. 45%

9. The dot plot below shows the number of
books read by a group of 20 students over
the summer. Which statement is true?

[ ]

[ J

® [ J
'l L
T

A 4

)
<

0

o4 0060
w4l 000
cT eee

]
2 4

Number of Books Read

A. median = 6, interquartile range =3
B. median = 6, interquartile range = 4
@ median = 7, interquartile range = 3
D. median =7, interquartile range = 4

Use for questions 11 and 12: Beth exercised for
350 minutes last week. The circle graph below
represents the amount of minutes she spent
running, swimming, cycling, and lifting weights.

8%

28%

running

18%

swimming

cycling

lifting weights

46%

11. How many minutes did she spend cycling?

A. 92 350
e xan
C. 104 29 o%
100
D. 112 ———
q%.00
12. In which two activities did she spend exactly
189 minutes? Cu\(‘,\ ¢=98%
A. swimming and running Run= W’g
B. cycling and running Swim = b
immi : Waghis 2 23
C. swimming and cycling

lifting weights and running
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